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Sl. No.1
QBID:1103001

"Salakya Tantra," the branch of Ayurveda, deals with which of the following?

1. Internal medicine

2. Toxicology

3. Disease of eyes, ears, nose and throat
4. Pediatrics

)1

(2 2

3) 3

(4) 4
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1[Option ID=5401]
2[Option ID=5402]
3[Option ID=5403]
4[Option ID=5404]

Sl. No.2
QBID:1103002

Which of the following "Siddha medicine" was widely consumed during the Covid-19 Pandemic ?

1. Kantacendiiram
2. Kabasurakudinir
3. Lohaparpam
4. Kantaparpam

1) 1

() 2

(3) 3

(4) 4
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1. Dida<H
2. HIR HlgAR
3. @gudH
4. HTAudq
1) 1
) 2
3) 3
(4) 4
1[Option ID=5405]
2[Option ID=5406]

3[Option ID=5407]
4[Option ID=5408]
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What is the dominating dosa in old age as per Ayurveda ?

1. Kapha
2. Pitta
3. Vata
4. Agni

1) 1

(2 2

(3) 3

(4) 4
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3.dMd
3
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(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=5409]
2[Option ID=5410]

3[Option ID=5411]
4[Option ID=5412]

Sl. No.4
QBID:1103004

What is the dominating dosa during childhood according to Ayurveda ?

1. Kapha

4) 4

3HYAE & TR STIaeI] & GHY I AT FHIADRI QY ¢ 2

1. PH
2. o
3. dId
4.
(1) 1
(2) 2
3) 3
(4) 4
1[Option ID=5413]
2[Option ID=5414]

3[Option ID=5415]
4[Option ID=5416]

Sl. No.5
QBID:1103005

A philosophical system is said to be 'Astika' if and only if -

1. It acknowledges the existence of God
2. It considers the vedas as a pramana (Evidence)
3. It considers the puranas and itihasa-s as a pramana (Evidence)
4. It 1s based on belief in Karma
1
2 2




3) 3
4) 4
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) 1
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4) 4

1[Option ID=5417]
2[Option ID=5418]
3[Option ID=5419]
4[Option ID=5420]

Sl. No.6
QBID:1103006

'Anatma'’ is a concept associated with which of the following philosophical systems ?

1. Jainism
2. Uttara Mimamsa
3. Buddhism
4. Purva Mimamsa
1
(2) 2
(3) 3
a) 4
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1. o oH
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3. dlg 4d
4. gd Hiepr
1) 1
) 2
(3) 3
4) 4

1[Option ID=5421]
2[Option ID=5422]
3[Option ID=5423]
4[Option ID=5424]

Sl. No.7
QBID:1103007

The death of Bhisma is mentioned in which Parva of the Mahabharata.

1. Bhisma Parva
2. Santi Parva
3. Anusasana Parva
4. Str1 Parva
1) 1
2) 2
(3) 3
(4) 4
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(1) 1
(2) 2
(3) 3
4) 4
1[Option ID=5425]
2[Option ID=5426]

3[Option ID=5427]
4[Option ID=5428]

Sl. No.8
QBID:1103008

The Nirvana Satkar. is attribrited to which of the following, philosophical schools.

1. Advaita Vedanta
2. Dvaita Vedanta
3. Buddhism
4. Jainism
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2) 2

3) 3

4 4
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1) 1

() 2

(3) 3

4) 4

1[Option ID=5429]
2[Option ID=5430]
3[Option ID=5431]
4[Option ID=5432]

Sl. No.9
QBID:1103009

Stars (1&7s) have been listed in order beginning with Krttika (ﬁfﬁn in which of the followng vedas ?

1. Yajurveda
2. Samaveda
3. Atharvaveda
4. Rgveda

1) 1

2) 2

(3) 3

(4) 4
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(2) 2
3) 3
(4) 4
1[Option ID=5433]
2[Option ID=5434]

3[Option ID=5435]
4[Option ID=5436]

Sl. No.10
QBID:1103010

The biggest Purana in view of number of $loka-s is in which of the following texts ?

1. Bhagavata purana
2. Visnu purana
3. Skanda purana
4. Klrma purana
1) 1
() 2
3) 3
4) 4
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(1) 1
(2) 2
(3) 3
4) 4
1[Option ID=5437]
2[Option ID=5438]

3[Option ID=5439]
4[Option ID=5440]

Sl. No.11
QBID:1103011
]

Uttararcikam is the part of which veda ?

1. Samaveda
2. Rgveda
3. Yajurveda
4. Atharvaveda
1) 1
2) 2
(3) 3
(4) 4
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(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=5441]
2[Option ID=5442]

3[Option ID=5443]
4[Option ID=5444]

Sl. No.12
QBID:1103012




Chandogyopanisad belongs to which veda?

1. Rgveda
2. Atharvaveda
3. Samaveda
4. Yajurveda
1
2 2
(3) 3
(@) 4

Sicramye, FafaRad # 3 foad ddfad g 2

1. 3B%dq
. fadg

qHdg
4.3@36
(1) 1
(2) 2
(3) 3
(4) 4

b b2

1[Option ID=5445]
2[Option ID=5446]
3[Option ID=5447]
4[Option ID=5448]

Sl. No.13
QBID:1103013

‘What is the time duration between two consecutive sunrises ?

1. Saura - dina

. Candra - dina

. Savana - dina

. Naksatra - dina
11

2) 2

(3) 3

) 4
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1. 9R fea
2. 9% féA
3. 9gra- feqa
4. e e

1) 1

() 2

3) 3

(4) 4
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1[Option ID=5449]
2[Option ID=5450]
3[Option ID=5451]
4[Option ID=5452]

Sl. No.14
QBID:1103014

What are the Saka, Kollam and Jovian years respectively corresponding to the Kali year 6387 2

. 3179, 3926, 60
-.3826,.11, 3179
. 3208, 2461. 39
. 2461, 39, 3208
1)1
(2) 2

W kI —
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3) 3
4) 4
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+3VT9, 3926, 60
3926 11,3179
. 3208, 2461, 39
. 2461, 39,3208
1 1
2 2
(3 3
4) 4

b b2 —

=

1[Option ID=5453]
2[Option ID=5454]
3[Option ID=5455]
4[Option ID=5456]

Sl. No.15
QBID:1103015

Which of the following is not an element of Pafcanga ?

1. Karana

4) 4

fFafeRad § 9 &9 YT &1 dd gl g ©

1. 0]
2. N
3.dR
4.9

1) 1

) 2

(3) 3

4) 4

1[Option ID=5457]
2[Option ID=5458]
3[Option ID=5459]
4[Option ID=5460]

Sl. No.16
QBID:1103016

What will be the Tithi and Naksatra of the day, on which the longitudes of the Sun and the Moon are 200° and
100° respectively ?

1. Krsna - Paksa - Saptami , Pusya
2. Sukla - Paksa - Saptami, Punarvasu
3. Krsna - Paksa - Dvitiya , Pusya
4. Sukla - Paksa - Saptami, Pusya
1 1
) 2
(3) 3
) a4




o1y o1 g 31 dvst T SRR HH: 200° 3R 100° 1, 1 I & D1 {df 3R & =1 g 2

1. W1 Y& - GuqHl, I

2. Yo U&] - FLHl Adyg
3. pW g - fgdiargsa
4. ol Y& - JuaH g8
1) 1
(2) 2
(3) 3
4) 4
1[Option ID=5461]
2[Option ID=5462]

3[Option ID=5463]
4[Option ID=5464]

Sl. No.17
QBID:1103017

In, which Mandala of Rgveda, multiple of 10 are listed ?

4. Fourth
1) 1
(2 2
(3) 3
4) 4

Bida & [H¥ Hed H, 10 & 70 Yeles 6 2

1. UYH
2.|§ﬁ|ﬂ
3.§ﬁ|q
4.9qd

1) 1

(2) 2

3) 3

4) 4

1[Option ID=5465]

2[Option ID=5466]

3[Option ID=5467]
4[Option ID=5468]

Sl. No.18
QBID:1103018

According to Aryabhatan system, which is the number represented by the phrase YOIl 2

1. 6705
2. 7056
3.7605
4.5076

1 1

(2) 2

(3 3

4) 4

SAHETY UGl & S AR, HUITEl aTerIi=l gRT W ] i 9l g 2

1. 6705
. 7056
. 7605

. 5076
) 1
) 2

b 2
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3) 3
(4) 4
1[Option ID=5469]
2[Option ID=5470]

3[Option ID=5471]
4[Option ID=5472]

Sl. No.19
QBID:1103019

As per Bhutasankhya system, which of the following number corresponds to the string.

"candra - aditya - kha - bhiimi - netra"

.210121
. 121012
. 112012
.210211
1) 1
(2) 2
(3) 3
4) 4

d We Tsfa & AR, Fafaied 3 § -8 e gu dfad (&) 9 b6 € 2 dg-snfea-a- iy

.210121
. 121012
12012
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11
(2) 2
3) 3
(4) 4

b b —
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1[Option ID=5473]
2[Option ID=5474]
3[Option ID=5475]
4[Option ID=5476]

Sl. No.20
QBID:1103020

Among the following, which is the first available text to discuss the mathematics of zero along with operations of
positives and negatives?

1. Aryabhatiya
2. Brahmasphuta Siddhanta
3. Maha Siddhanta
4. Siddhanta Siromani
1) 1
(2) 2
(3) 3
(4) 4
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1. 3RS
2. SERG e [¥gid
3. AEIRGid
4. Tgia R
1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=5477]
2[Option ID=5478]
3[Option ID=5479]
4[Option ID=5480]
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Sl. No.21
QBID:1103021

The word 'Devamatrka’ refers to which of the following ?

1. land, depending upon rain for drinking water

2. land, depending upon rain for agriculture
3. land having many temples
4. land having goddess temples

)1

(2 2

(3) 3

(4) 4
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1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=5481]

2[Option ID=5482]

3[Option ID=5483]
4[Option ID=5484]

Sl. No.22
QBID:1103022

Abhilasitartha cintamani was composed by who among the following?

1. Bhojardja
2. Kalidasa
3. Somesvara
4. Nrpatunga
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2) 2

(3) 3

) 4
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(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=5485]
2[Option ID=5486]

3[Option ID=5487]
4[Option ID=5488]

Sl. No.23
QBID:1103023




Sitd g1 gaTuTH
3= A e -

a?ﬁ 4 Sitg % 13I—er 3l :ﬁl : Trees have life, they are 'not unconscious'. This famous §loka about the life in
plant appears in. Which of the following works?

1. Bhagavata Purana
2. Mahabharata

3. Ramayana

4. Rgveda

1) 1

(2) 2

(3) 3

4) 4
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1. HITad GRIU]
2. HelHRd
3. XHIYU
4. F1dq
(1) 1
(2) 2
3) 3
4) 4
1[Option ID=5489]
2[Option ID=5490]

3[Option ID=5491]
4[Option ID=5492]

Sl. No.24
QBID:1103024

What part of the agricultural produce was to be levied as tax by king in ancient India ?

1. 1/4
2.1/8
3.1/6
.3/4
)1
2 2
(3) 3
(4) 4
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1. 1/4
2.1/8
3.1/6
4.3/4

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=5493]

2[Option ID=5494]

3[Option ID=5495]
4[Option ID=5496]

Sl. No.25
QBID:1103025




In which of the following institutes, the statue of Nataraja is placed ?

1. NASA
2. CERN
3.ESA
.CNES
1) 1

(2) 2

(3) 3

(4) 4

fFrafeRad # 9 e deur | es @ ufaHr Riifud g 2

1. AT (TAUUHT)
2. T (HIgHRTA)
SUHY

3.
4.@'E3éQH
(1) 1
2) 2
(3) 3
(4) 4

I

1[Option ID=5497]
2[Option ID=5498]
3[Option ID=5499]
4[Option ID=5500]

Sl. No.26
QBID:1103026

In which year, Sir Edwin Arnold published the influential work - The light of Asia :

11878
. J857
. 1824
. 1835
(1) 1
) 2
(3) 3
4) 4

W TSI TS - YHTITRITH] Did & AIe AT URMAT HT UHIRM g qy fdbar o 2

1. 1879
. 1857
. 1824
. 1835
(1) 1
(2) 2
(3) 3
4) 4
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1[Option ID=5501]
2[Option ID=5502]
3[Option ID=5503]
4[Option ID=5504]

Sl. No.27
QBID:1103027

Who among the following wrote the essay titled, Nature' ?

1. Ralph Waldo Emerson
2. Henry David Thoreau
3. Walt Whitman
4. Jeon-Jacaues Rousseau
a1
(2) 2
3) 3




(4) 4
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) 1
() 2
(3) 3
(4) 4
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1[Option ID=5505]
2[Option ID=5506]
3[Option ID=5507]
4[Option ID=5508]

Sl. No.28
QBID:1103028

Which of the following work is not authored by Aldous Huxley ?

1. Brave New World
2. The Perennial Philosophy
3. The Doors of Perception
4. The Hero with a Thousand Faces
1) 1
(2 2
(3) 3
(4) 4

FufaRad § ¥ S Ut Qad el gid gRI ol fadl g ¢ 2

1. 99 g d©

2. g Rad fraramt

3. SN 3T THwH

4.2 BRI 3y T Usd=s By

(1) 1
) 2
(3) 3
4) 4

1[Option ID=5509]
2[Option ID=5510]
3[Option ID=5511]
4[Option ID=5512]

Sl. No.29
QBID:1103029

How many matra-s are present in the 'tisra jati ripaka tala' of Karnatic classical music ?

o b —
NI ST, N

I

1) 1
(2) 2
(3) 3
(4) 4
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(2) 2
3) 3
(4) 4
1[Option ID=5513]
2[Option ID=5514]

3[Option ID=5515]
4[Option ID=5516]

Sl. No.30
QBID:1103030

"Phanek’ is a costume of which of the following classical dances of India ?

1. Odissi
2. Kucipudi
3. Kathakali
4. Manipurl
) 1
) 2
(3) 3
4) 4

HRd & MEIRad & 9 (9 T T BT G=-YN BHF' § 2
1. it

(1) 1
(2) 2
(3) 3
4) 4
1[Option ID=5517]
2[Option ID=5518]

3[Option ID=5519]
4[Option ID=5520]

Sl. No.31
QBID:1103031

Which of the following artwork is listed in the UNESCO's ICH list ?

1. Purulia Chau
2. Odissi
3. Bharatanatyam
4. Kucipudi

1) 1

2) 2

(3) 3

4 4

fFafaRad # 9 &1 9l Sarbia giwn] S Asdied Y= 4 YElds § 2
1. Gl 93
afifsdt

o b2

YRAHTeT
PHEIS!
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(1) 1
(2) 2
(3) 3
4) 4
1[Option ID=5521]
2[Option ID=5522]

3[Option ID=5523]
4[Option ID=5524]

Sl. No.32
QBID:1103032




'"Tolu Bommalata' and 'Kutiyattam' are respectively from which of the following Indian States ?

1. Kerala and Tamil Nadu
2. Andhra Pradesh and Tamil Nadu
3. Andhra Pradesh and Kerala
4. Karnataka and Andhra Pradesh
1) 1
(2 2
(3) 3
4) 4

e IFFTIE R DISTISH HHT: HRA & [FHfaRad H I o el ¥ eida g 2
1. R AR AErg

2. JAYYS 3R TG
3. SATYYSR 3R A
4. BIeH 3R SMiyUS
@) 1
) 2
3) 3
(4) 4

1[Option ID=5525]
2[Option ID=5526]
3[Option ID=5527]
4[Option ID=5528]

Sl. No.33
QBID:1103033

In 954 AD, Chandela king 'Dhanga’, built the Laksmana temple in Khajuraho, to which deva is it dedicated ?

1. Rama
2. Laksmana
3. Visnu
4. Krsna
1) 1
2 2
(3) 3
4) 4

e ST T A 9y 954 . H WoRTgl H d&HU HiR S-ar, Sl FufaRad | 9 feg Sadl B gAfdd g 2

1.
2. TIEHUT
3. fawy
4P

1) 1

) 2

(3) 3

(4) 4

1[Option ID=5529]
2[Option ID=5530]

3[Option ID=5531]
4[Option ID=5532]

Sl. No.34
QBID:1103034

What does the Vastusastra text "Manasara" mainly deal with ?

1. House designs
2. Measurements
3. Temple construction
4. Psychological effects
1
(2 2




3) 3
4) 4

IR U HHYR' A d: by Haifed g 2

1. Yo+ 3HiYPH e (8139 f&uz-0)
2. {9

3. "fex fAm|for

4. GRS U419

) 1

(2) 2

(3) 3

(4) 4

1[Option ID=5533]

2[Option ID=5534]

3[Option ID=5535]
4[Option ID=5536]

Sl. No.35
QBID:1103035

Which ancient city of Indus Valley civilisation was situated on "tropic of cancer" ?

1. Mohenjodaro
2. Lothal
3. Harappa
4. Dholavira
1) 1
(2) 2
3) 3
(4) 4

e 91T AT DT DI I UTHH TR deb 341 TR AT AT 2

1. AlgTSiicS!
. dIYd

. gS
RIKIEIN

1) 1
(2) 2
(3) 3
(4) 4
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=

1[Option ID=5537]
2[Option ID=5538]
3[Option ID=5539]
4[Option ID=5540]

Sl. No.36
QBID:1103036

Where do you find more Dravida style medieval era temples ?

. Maharashtra
. Odisha

. Tamil Nadu

4. Karnataka

1) 1

(2) 2

(3) 3

) 4

AHTAH %ds 2l & IHaR AfeR Hel fHad g 2

1. FGRTY
_3fifgam
Hlch

1
2
3

b b2
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(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=5541]
2[Option ID=5542]

3[Option ID=5543]
4[Option ID=5544]

Sl. No.37
QBID:1103037

Which of the following metals is prescribed in Arthasastra to be mixed and heated with impure silver in order to
purify it ?

1. Tin
2. Mercury
3. Lead
4. Copper
1
2 2
(3) 3
4 a

spfema # fafea Fufafaa o 9 $1H-4t argei @1 9d & uispd e (<) & HA H 3=l oid (diah) &
1Y FHeeR TRH 61 ST 8 2

1. feq
2. ORI
3, 4T
4.dY

1) 1

2) 2

(3) 3

4) 4

1[Option ID=5545]
2[Option ID=5546]
3[Option ID=5547]
4[Option ID=5548]

Sl. No.38
QBID:1103038

Which among the following options constitutes the peculiar infra-sensible characters under the impact of heat
corpuscles ?

1. Sabda - sparsa - rtipa
2. Sparsa - rupa - rasa

3. Riipa - rasa - gandha
4. Rasa - gandha - sparsa

1) 1
() 2
(3) 3
4) 4
SHBVHT S YHE & 3=1id Hgferrad 8§ 9 $H-u1 fase 3Ry Swi-ddet fagmasi aran g 2
1. g - 9 - ® Y
2. WY -FY -39
3. ¥ -3 -7y
4. 39 - T8 - R
1) 1
() 2
(3) 3
4) 4

1[Option ID=5549]




2[Option ID=5550]
3[Option ID=5551]
4[Option ID=5552]

Sl. No.39
QBID:1103039

In the chapter describing the flame test of metals in Rasarnava, what is the colour change mentioned on
introducing copper to the flame ?

. crimson

(4) 4
Wﬂfgﬁ T 3il & dl-uRIaf01 i qftld B died e |, a1 ol & GHY o S R ol § DI--J1 1 Wi
BIdIg 2

1[Option ID=5553]
2[Option ID=5554]
3[Option ID=5555]
4[Option ID=5556]

Sl. No.40
QBID:1103040

What is the name of the apparatus used for zinc distillation in ancient and medieval India ?

1. Svedani yantra
2. Vrntaka musa
3. Triyak Patana yantra
4. Dolana yantra
1) 1
(2 2
(3) 3
(4) 4

UT=ii- Ud Heablal HRd H S 3T gq UG g dlel 3USHRUl BT A 1 g 2

1. WeH a7

2.9AP Y
3. e ud1 g3
4. &l U

1) 1

(2) 2

3) 3

(4) 4

1[Option ID=5557]
2[Option ID=5558]
3[Option ID=5559]
4[Option ID=5560]

Sl. No.41
QBID:1103041




Identify the Buddhist architectural structures

A Nalanda, Bihar

B. Gomate$vara, Karnataka

C. Udayagiri

D. Dilvara temple, Mount Abu

E. Mahabodhi temple, Bodh Gaya

Choose the correct answer from the options given below :

1. A, B and D only
2. A, Cand D only
3.A, Cand E only
4. A, DandE only

1) 1

2) 2

3 3

@) 4

dlg W W13l & fafgd sife

A, Hrefar, fogr

B. TSR, Pl

C. IR

D. feerarst H#fdr, Arde arrq

E. HelElle |G, dierm
=T fau 770 faedl § 1 Ual 3R &1 994 DifoIe:

1. $TA A, B3R D
2. FTA A, C 3R D
3. HFadA, C 3R E
4. HIAA. D 3RE

(1) 1
() 2
(3) 3
4) 4

1[Option ID=5561]
2[Option ID=5562]
3[Option ID=5563]
4[Option ID=5564]

Sl. No.42
QBID:1103042

Which of the following are Dosa-s ?

A. Agni
B. Pitta
C.Vata
D. Vayu
E. Majja

Choose the correct answer from the options given below :

1. A and B only
2. B and C only
3. C and D only
4.D and E only

)1

(2 2

(3) 3




) 4
e INIEE AL E IR R
A. 39

B. fUx

C.ard

D.dH
E. T

T fau 70 fashedl © 9 el 3R &1 94 DifoIe:

1.$dd A 3R B
2. Had B AR C
3. $Hdd C 3R D
4. $IAD ARE

) 1

() 2

(3) 3

4) 4

1[Option ID=5565]

2[Option ID=5566]

3[Option ID=5567]
4[Option ID=5568]

Sl. No.43
QBID:1103043

Which of the following are types of Vayu ?

A. Prana
B. Daksina
C. Vyana
D. Trapaka
E. Bodhaka

Choose the correct answer from the options given below :

1. A and B only
2. A and C only
3. B and C only
4.B and E only

1) 1
(2) 2
(3) 3
4) 4

FafRed § 9 ag & UPR HH-U ¢ 2

A Y0
B. GI&f0T
C. oM
D. A9H
E. ql¢®

=i faU U fadedl § U el 3R &1 904 BHIIT:

1. $ad A IR B
2. FAA AR C
3. $FaAB 3R C
4. HIAB 3R E




(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=5569]
2[Option ID=5570]

3[Option ID=5571]
4[Option ID=5572]

Sl. No.44
QBID:1103044

Identify the two prominent temples of Khajuraho from the following ?

A. Virupaksa temple

B. Sun Temple

C. Visvanatha Temple

D. Kandariya Mahadeo Temple
E. Mithuna Temple

Choose the correct answer from the options given below :

1. A and B only
2. B and C only
3. C and D only
4.D and E only

1)1
(2) 2
(3) 3
(4) 4

afiRad & I GoRiel & ol Ui |ieRi &1 f[afgd S

A. [asare Hfex

B. 92 Hfd?

c. fayry wfdR

D. HUSY Hgled HidR

E. o wfeR
T fau 70 fashedl © 9 el 3R &1 94 DifoIe:

1.$dd A 3R B
2. Had B AR C
3. $Hdd C 3R D
4. $IAD ARE
) 1
) 2
(3) 3
4) 4

1[Option ID=5573]
2[Option ID=5574]
3[Option ID=5575]
4[Option ID=5576]

Sl. No.45
QBID:1103045




Identify the temple in which Siva is the main deity.

A. Martanda Temple, Anantanaga

B. Shore temple, Mahabalipuram

C. Kedaranatha temple, Uttara Khand
D. Tungnatha temple, Uttarakhand

E. GomateSvara temple, Karnataka

Choose the correct answer from the options given below :

1. A, Band C only
2.B, Cand D only
3.C,Dand E only
4.E, A and B only

1) 1
(2) 2
(3) 3
(4) 4

31 HiG Bl g S foraH g Sadl fq &

A, A0S AR, 3TN
B. dc Hfax, AgTacigRH
C. heERATY HfdR, IR
D. {1y HfdX, ITRES
E. TR AR, FHled

i faU Y faspedl # 9 98 I9ged 3R &1 98 Do

1. $HId A, B3R C
2.%dd B, C 3R D
3.%ad C,D AR E
4. $IAE, A3RB

1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=5577]
2[Option ID=5578]
3[Option ID=5579]
4[Option ID=5580]

Sl. No.46
QBID:1103046

Where do you find the Great Living Chola temples ?

A. Hampi

B. Badami

C. Mahabalipuram

D. Darasuram

E. Gangai - Konda Chola Puram

Choose the correct answer from the options given below :

1. A and E only
2. B and C only
3. C and D only
4.D and E only

1) 1

(2 2

3) 3




4) 4

AEH Siidd 9id Afey gl W RRT § 2

A.gUl
B. dIaHl
B \

D. TRIH
E. 771 - BIUs 91 A

il AU U [qepedl # 9 Ha Iugerd 3R 1 98 DI

1. pdd A3RE
2. $Had B3R C
3. %Had C 3R D
4. $Hdd D 3RE

1) 1

() 2

(3) 3

4) 4

1[Option ID=5581]
2[Option ID=5582]
3[Option ID=5583]
4[Option ID=5584]

Sl. No.47
QBID:1103047

Which of the Following itmes are found in ‘“dH®’ of TaittarTya Samhita of Yajurveda.

A. Masa

B. Tila

C. Kharjura
D. Madhura
E. Yava

Choose the correct answer from the options given below :

B.D. E only
C,D. E only
. A, B, E only
4.B, C, D only
)1
(2 2
(3) 3
(4) 4

T9de @t afeda g & awe d el A e sa € 2
A AT

B. fa@

C. @SR

D. MR

E.7d

I fSU 778 fas el | U ol 3k &1 904 BHiforg:

1. %dd B, D, E
2. %dd C, D, E
3.%hdd A, B.E
4.%ddB,C.D

L
2.
3




(1) 1
(2) 2
(3) 3
4) 4
1[Option ID=5585]
2[Option ID=5586]

3[Option ID=5587]
4[Option ID=5588]

Sl. No.48
QBID:1103048

Identify the correct pairs of texts and their authors from below :

A. Bhojanakutuhalam ; Raghunatha
B. Pakadarpana : Nala

C. Ksemakutihalam : KsIrasvami

D. Pakacandrika : Anndji Ballala
E. Yasobhtisanam : Ballala

Choose the correct answer from the options given below :

, C,E only
.D. E only
. B, D only
", D, E only

4) 4
A3 o T eff e b a3 Wl gl B R iR

A. HISFDIgaH : T

B. Urha Yl ; Ad

C. A JgaH : &k i

D. QI i<l : A dedlid
E. g4 : gele

[

il faU Y fasp el # 9 99 I9gad 3R 1 98 DI

l.$hdd A, C,E
2. $dd B, D.E
3.$hdd A, B.D
4.%Hdd C, D, E

1)1
(2) 2
(3) 3
(4) 4

1[Option ID=5589]
2[Option ID=5590]
3[Option ID=5591]
4[Option ID=5592]

Sl. No.49
QBID:1103049




Which of the following correctly describes the names of salt as per the text Rasarnava ?

A. Pinakam (fm]

B. Ciilika (JfetepT)

C. Sauvarcalam (ﬁlﬂﬂfﬂ{)
D. Dardurar (E@TF[]

E. Kacam (PIdH)

Choose the correct answer from the options given below :

(4) 4

T U & SER Mafciad & 9 &1 dqu & =l 61 98l aui Hd g 2
A. oy

B. Jfeiehl

C. digdaq

D. &5¥H

E. DH
T fau 778 fashedl & 9 ol 3R &1 994 DifoIe:

1.%dd B,C.D
2. ®dd C,D,E
3.5hdd A, C.E
4.%dd B, C.E

1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=5593]
2[Option ID=5594]
3[Option ID=5595]
4[Option ID=5596]

Sl. No.50
QBID:1103050

Which are the terms used to describe different beverages as given in 'Caraka Samhita?"

A. Rasasava (JY[Hd)
B. Romaka (W)

C. Tusambu (JYTH])
D. Srivasaka (%1 919P)

E. Asuta ()

Choose the correct answer from the options given below :

A, B, D only
B.D. E only
. A, C,E only
4.B, C,D only

1
2
3




) 2
3) 3
(4) 4

R Hfgdl H &I 715, faftrst 04 o1 afvfd e & ol e Usg PTG 2

A N9
B.IHD

C. qurg
D. 41 I 9%

E. 31Yd
=T fau 770 faspedi © O Uat IR &1 90 DifeIe:

1.$dd A, B.D
2. $dd B, D.E
3. Hdd A, C.E
4.$ddB,C,D

1) 1
() 2
(3) 3
4) 4

1[Option ID=5597]
2[Option ID=5598]
3[Option ID=5599]
4[Option ID=5600]

Sl. No.51
QBID:1103051

For making weights, Iron or stones from exactly which two cities is prescribed in Arthasastra ?

A. Hastinapura
B. Magadha

C. Dravida Desa
D. Mekala

E. Kausambi

Choose the correct answer from the options given below :

1. A Conly
2. B.D only
3.B,E only
4. A, D only

1) 1

(2 2

(3) 3

(4) 4




3R H Pifced R 9l §9 & ford Fafefad # 9 g wg & dig a1 WRa? &1 ufey fdharg 2
A. BIRAIQR

B. {71
C. &fds 3
D. Hdhd
E. ST

Oy~

i faU Y [asp el # 9 9ad Iuged 3R &1 98 HIfoT:

1. hdd A, C
2. ®dd B, D
3.%ddB.E
4. bdd A D

1)1
(2) 2
(3) 3
(4) 4

1[Option ID=5601]
2[Option ID=5602]
3[Option ID=5603]
4[Option ID=5604]

Sl. No.52
QBID:1103052

Which of the following are linguistic transformations among India and South-East Asian languages ?

A.Pali: Bali

B. Dukha : Phuka

C. Buddha : Phuta
D. Sri Deva : Sri Tep
E. Visnu : Jisnu

Choose the most appropriate answer from the options given below :

1. A, Band C only

2.B, Cand D only

3. A CandD only
C;

4.C,Dand E only

(1) 1
(2) 2
(3) 3
4) 4

YR Ud &1 gd TS HINrsil o HINg SUiaR Fufeiad d 9 s @ 2
A.qfﬁ'l:aﬁ
B. g Bd

C.dx: hd
D. #ied : 4iqy

E.ﬁml:ﬁﬂi

il fau U faspedl # ¥ e Iuged IR &1 =98 DIfoY :
1.$hadd A, B3R C

2. HadA B, C AR D

3. HIA A, C 3R D
4. HAAC, D 3RE




(1) 1
(2) 2
(3) 3
4) 4
1[Option ID=5605]
2[Option ID=5606]

3[Option ID=5607]
4[Option ID=5608]

Sl. No.53
QBID:1103053

Which of the following South-East Asian names are derived from India ?

A Irawadi
B. Komboja
C. Sumatra
D. Thai

E. Khoton

Choose the most appropriate answer from the options given below :

1. A, B and C Only
2.B.Dand E Only
3

A, Cand E Only
4. C,Dand E Only

(1) 1
() 2
(3) 3
(4) 4

FrafeRad glgor-gul g = # 8 &9 9 HRd J Gdd 6 2

A. SXadt
B. Hdlof
C. gHEA
D. U5

E. @idiH

i fAu T famedl # 9 98 Iugad IR &I 94 oy :

1. FTAA, B3R C
2. %dd B, D AR E
3. Hdd A, C3RE
4. Hdd C, D3R E

1) 1
() 2
(3) 3
4) 4

1[Option ID=5609]
2[Option ID=5610]
3[Option ID=5611]
4[Option ID=5612]

Sl. No.54
QBID:1103054




Which of the following are cognate words for ‘Usha’ in Indo-European language family

A.EOS
B. Eostre
C. Ausma
D. Ignis
E. Uquns

Choose the most appropriate answer from the options given below :

1. A, B and C Only
2.B, C and D Only
3. Aand C Only
4.D and E Only

(1) 1
) 2
(3) 3
(4) 4

HRIUR (HRA-GRIGR) HIYT GRAR H 39T 8 Sellii 2eg FAfRad H Y g 2

A. 231
B. 23Rk
C. 3
D. 379
E. 31

i faU Y fdsp el # 9 9o Iugad IR &1 98 DIy ;

1.WA,BG??C
2. %Hdd B, C 3R D
3. Hadd AR C
4. $9AD 3ARE

) 1

() 2

3) 3

4) 4

1[Option ID=5613]
2[Option ID=5614]
3[Option ID=5615]
4[Option ID=5616]

Sl. No.55
QBID:1103055

Which of the following belongs to Navarasa based on Natysastra ?

A. Bhakti (Hfe)

B. Bibhatsa (Eﬂlﬁﬂ)
C. Lasya (¢11¥H)

D. Raudra (ﬁ—s{)

E. Karuna (6 oU)

Choose the correct answer from the options given below :

.B, C, D Only
. A, B.E Only
. A, C,D Only
.B,D. E Only

B S R O




1) 1
(2) 2
(3) 3
4) 4

FafeRad 5 9 $F TTeaRd IR 2MUd 9939 O Jafid g 2

A, Hfad
B. §iH
C. g
D.3%
E. GO0

i feU U fadedl § U TEl IR &1 904 I :

1.%dd B.C.D
2. $dd A B.E
3. AT A, C.D
4. HddB.D.E

1) 1

2) 2

(3) 3

4) 4

1[Option ID=5617]

2[Option ID=5618]

3[Option ID=5619]
4[Option ID=5620]

Sl. No.56
QBID:1103056

Which of the following percussion instruments are from karnatic classical music ?

A. Ghatam
B. Pakhavaja
C. Kanjira
D. Dafali

E. Morsing

Choose the most appropriate answer from the options given below :

1. A, B and C Only
2.B, C and D Only
3.A CandE Only
4.C,D and E Only
1) 1
2) 2
(3) 3
(4) 4




fFafRad 3@ gl # U S dAicd ARG Jiiid U Jafid g 2

A goq

B. J@IGdl
C. hoRI
D. €hdl
E. HIfdT

i faU Y [dsp el # 9 9ad I9gead SR &1 98+ DIy :

1. $HTA A, B3R C
2.%dd B, C 3R D
3.$dd A, C3RE
4. HddC,DIARE

1)1
(2) 2
(3) 3
4) 4

1[Option ID=5621]
2[Option ID=5622]
3[Option ID=5623]
4[Option ID=5624]

Sl. No.57
QBID:1103057

Which of the following are the correct representative of chandas and their syllables

A Gayatul: 24
B. Anustup : 24
C. Tristup : 44
D. Usnik : 28
E. Jagati: 44

Choose the correct answer from the options given below :

.A. B, C Only
.B, C, D Only
.A, C,D Only
. A, D, E Only

(4) 4

Fal Ud 3 &R & Hel Ufddv ufafad A 9 - d g 2
A. T : 24

B. 35U : 24

c.faxey: 44

D. 3 : 28

E. STl - 44

i faU U fadhedl T I Tel IR &1 904 I :

1.$hdd A, B, C
2. ®dd B, C,D
3. Hdd A, C.D
4. Bdd A D.E




(1) 1
(2) 2
(3) 3
4) 4
1[Option ID=5625]
2[Option ID=5626]

3[Option ID=5627]
4[Option ID=5628]

Sl. No.58
QBID:1103058

Which of the following are the names of Srauta Agni (fire) ?

A. ahavaniya
B. dhanaijaya
C. garhapatya
D. karkata

E. daksina

Choose the correct answer from the options given below :

1. A, C.E Only
2. A, B, E Only
3.B.D.E Only
4. A, D, E Only

1) 1

() 2

(3) 3

(4) 4

4 P & A FEiRad H Y UG 2
A. 3Tga-T

B. U134

C.Me9d
D. &b

E. Gféop
i faU U fadhed| | U "el 3R &1 99— BT -
1.%dd A, C, E

1[Option ID=5629]
2[Option ID=5630]
3[Option ID=5631]
4[Option ID=5632]

Sl. No.59
QBID:1103059




Which of the following are called the Kanda-s of Nirukta?

A. Naighantuka
B. Vyutpatti

C. Upapatti

D. Naigama

E. Daivata

Choose the most appropriate answer from the options given below :

A, B.E Only
A, D, E Only
. A, B, C Only
4. A, C.D Only

(1) 1
) 2
(3) 3
(4) 4

e & IS A A I DHI G 2
A. 9UCH

B. g

C. 39Ut

D. T

E. &ad

il fau U faebedl # 9 Ha Iugdd IR &1 98 DI :

1. $dd A, B.E
2. HAd A, D, E
3. $hdd A, B.C
4. $dd A, C.D

(1) 1
() 2
(3) 3
4) 4

|
2.
3

1[Option ID=5633]
2[Option ID=5634]
3[Option ID=5635]
4[Option ID=5636]

Sl. No.60
QBID:1103060

Which of the following are killed by Rama

A. Viradha
B. Marica

C. Virocana
D. Rsyasrnga
E. Trisira

Choose the most appropriate answer from the options given below :

.A, B, C Only

.A,B.E Only

.C, D, E Only
4.B, C, D Only

11

2 2

(3 3

1
2
3




4) 4

afcRad & fo-1eb1 M gR1 98 g 2

A Ry
B. AR
c. fa=A
D. BYT
E. BARR

[

i faU Y fdspedl # 9 a8 Iugead IR &1 98 DIy :

1. $hdd A, B, C
2. Hdd A, B, E
3.$dd C,D.E
4.%ddB,C.D

1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=5637]
2[Option ID=5638]
3[Option ID=5639]
4[Option ID=5640]

SlI. No.61
QBID:1103061

Which of the following are considered as Pramana in Visistadvaita

A. Pratyaksa (Perception)

B. Anumana (Inference)

C. Yukti (Logical Reasoning)
D. Sabda (Verbal testimony )
E. Arthapatti (Postulation)

Choose the correct answer from the options given below :

A, B, C Only
A, B. E Only
B, C,E Only
A, B. D Only

1
2.
3.
4.
(1) 1
(2) 2

3) 3
(4) 4

fFafeRad | 9 food fafereTed § v & 9 8 A1 9l @ 2

A. YT
B. 3{HM
C. gfaa

D. WS
E. 3yfufx

A fau 71T faseui & 9 Tel 3R &1 994 Difvlu

1. $hdd A, B, C
2. Hdd A, B, E
3.%dd B, C.E
4.%dd A.B.D




(1) 1
(2) 2
(3) 3
4) 4
1[Option ID=5641]
2[Option ID=5642]

3[Option ID=5643]
4[Option ID=5644]

Sl. No.62
QBID:1103062

The interpretation of the Brahma Sutra-s is important for which of the following philosophical systems?

A. Advaita

B. Visistadvaita
C. Dvaita

D. Sankhya

E. Purvamimamsa

Choose the correct answer from the options given below :

. A, B. C Only
. A, B, D Only
.B, D, E Only
4. A, C,D Only

Hid fau T fadedi § U gl 3R Bl 90+ Difolu :
1.$dd A, B.C

1[Option ID=5645]
2[Option ID=5646]
3[Option ID=5647]
4[Option ID=5648]

Sl. No.63
QBID:1103063




Among the following options, identify the Sulbastitras

A Katyayama
B. Varaha

C. Vadhula

D. Taittariya

E. Yajiavalkya

Choose the correct answer from the options given below :

1. B, C, D Only
2. A B. C Only
3. A,B,E Only
4.D, E. B Only
)1
(2) 2
(3) 3
(4) 4

FafeRad fde el # 9 Yed YA $1 fled DifST

A, BT
B. TG
C. argd
D. g
E. dRlde®]

=T fau 70 fashedi © 9 el 3R &1 90 Difolu -

1.$dd B, C,D
2. Hdd A, B, C
3. %hdd A, B.E
4.$%ddD.E. B

1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=5649]
2[Option ID=5650]
3[Option ID=5651]
4[Option ID=5652]

Sl. No.64
QBID:1103064

Which of the following terms are used to denote Rsine'

A. Bahujya
B. Kotijva

C. Jyardha
D. Guna

E. Sarajya

Choose the correct answer from the options given below :

A, B, C Only

B. C, E Only
.C, D, E Only
4. A, C,D Only

1) 1

(2 2

3) 3

L
2.
3




4) 4

'RUZT Bl SRTd B & oW FfaRad & 9 fob ual &1 uanT fear Sir g 2

A. 95l
B. Blfcl

c. oy

D. 01
E. TRV

=T fau 70 fashedi © 9 el 3R &1 90 Difolu -

1. $hdd A, B, C
2. ®dd B, C,E
3.$dd C,D.E
4.bdd A, C.D

1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=5653]
2[Option ID=5654]

3[Option ID=5655]
4[Option ID=5656]

Sl. No.65
QBID:1103065

Which among the following are the names of quarters of Mahayuga ?

A. Krta

B. Treta

C. Vaivasvata
D. Kali

E. Svetavaraha

Choose the correct answer from the options given below :

1. B, C and D Only
2. A, Band D Only
3.C,Dand E Only
4.B, D, and E Only

1) 1

() 2

3) 3

(4) 4

FRTTRIT H ¥ I HERIT b IgUTe (SH1eR) & AR 6 ?

A &d
B. Adl

C. da%ad
D. ®id
E. §ddRIg

i faU Y fdsp el 7 9 e IUged IR &1 98 DIy ;

1.$ad B, C 3R D
2. $9d A, B 3R D
3.%dd C,D AR E
4. Hdd B, D3R E




(1) 1
(2) 2
(3) 3
4) 4
1[Option ID=5657]
2[Option ID=5658]

3[Option ID=5659]
4[Option ID=5660]

Sl. No.66
QBID:1103066

Match List-I with List-1I

List-1 List-1T
Pinakam (T0ATHH) | I |Salt
Samudrari (&) | IL | Gold
Vimala (fGH) TI. | Mica
Hatakarh (BICHH) IV. | Copper

Olo|wie

Choose the correct answer from the options given below :

1. A-I, B-IV, C-II, D-III
2. A-III, B-1, C-IV, D-1I
3. A1l B-I1I, C-1, D-IV
4. A-1IV, B-11, C-III, D-I

1) 1
(2) 2
(3) 3
(4) 4
el I 914 T 11 BT fHer Piforg
T 1 e 11
A TS I [[aor
B [arsq L [@u
c. food IIL |3{YH
D. ElEdhH V. [q"
=i faU U f[ddhedl § I Tel IR &1 904 I ;

1. A-I, B-IV, C-II, D-III
2. A-IIL B-1, C-IV, D-II
3. A-II, B-1II, C-1. D-IV
4, A-IV, B-11, C-II1. D-I

1) 1

(2) 2

(3) 3

4) 4

1[Option ID=5661]

2[Option ID=5662]

3[Option ID=5663]
4[Option ID=5664]

Sl. No.67
QBID:1103067




Match List-I with List-II

List-I List-II
A |Nvavasotram I. Paimint
B. |Porvamimarhsd II. |Gautama
@, [[Ranmaeaes I (Smrti Texts
(vedanta)
D. |Dharmasastram IV [Badaravana

Choose the correct answer from the options given below :

1. A-III, B-1, C-1I, D-IV
2. A-II, B-1, C-IV, D-III
3. A-IL B-I, C-IIT, D-IV
4. A-1. B-1I, C-1IV, D-III

1) 1
2) 2
(3) 3
4 4
YT 1S 914 I 11 BT fer Piforg

T 1 el 11
A, TG L [
B. [gaHiHT 1L fied

i .

g, Gmf'“ il L fegfey oy
D. [UHIRAH IV, [STE=mul

T faU 70 fashedl © O ol 3R 1 99 DifoTu -

1. A-III, B-1. C-I1I, D-IV
2. A-1I, B-1, C-IV, D-1II
3. AL B-1, C-III, D-IV
4. A-1, B-11, C-1V, D-III

(1) 1

(2) 2

3) 3

4) 4

1[Option ID=5665]

2[Option ID=5666]

3[Option ID=5667]
4[Option ID=5668]

Sl. No.68
QBID:1103068

Match List-I with List-II

List-I List-II
A [Kanada I. [Porva mimarhsa
B. [Kapila II. [Vaisesika
C. Jaimini III. |Sankhya
D. [Patanjali IV. [Yoga

Choose the correct answer from the options given below :

1. A-1I, B-1, C-1I1, D-IV
2. A-I, B-1II, C-II, D-IV
3. A-L B-IV, C-II, D-1II
4. A-1l, B-1II, C-I, D-IV

1) 1

(2) 2

(3) 3

(4) 4




el I 914 T 11 BT fHer Piforg

T 1 e 11
A [pUTg I th:ﬁurm
B. [Biud N GEIEET
C. [SfeAt IIL [drea
D. [adwfa V. [
i faU 7T fqehedi T 4 Hel IR BT 99 DIl ;

1. A-II, B-1, C-III, D-1IV
2. A-I, B-1II, C-II, D-IV
3. A-1, B-1V, C-I1, D-III
4. A-11, B-1I1, C-I, D-IV

(1) 1

(2) 2

3) 3

4) 4

1[Option ID=5669]

2[Option ID=5670]

3[Option ID=5671]
4[Option ID=5672]

Sl. No.69
QBID:1103069

Match List-I with List-IT As per the 'Katapayadi' system

TqAt 1 Tt 1
A Dilti (e S
B |Chennai (I4) L i1
C. [Kolkata (@lcldl) | 1. B8
D. [Mumbai (H33) v 6

Choose the correct answer from the options given below :

1. A-IV, B-1II, C-I, D-II
2. A-IIT, B-1V, C-11, D-1
3. A-I. B-1I, C-1II, D-IV
4. A-11, B-1I1, C-1V, D-1

1) 1
() 2
(3) 3
(@) 4
“DHeudle UGid & TR el 1D 9 il 11 BT A DIy
a1 T 11
A et I B3
B. [@9 I
C. [hlchIdl III. 38
D. [Huy v 6
i feu U fadhedl § I Ggl 3R &1 99 HIfof ;

1. A-IV, B-ITI. C-I. D-II
2. A-III, B-1V, C-I1, D-I
3. A-L B-11, C-111, D-IV
4. A-II, B-1II, C-IV. D-1

1) 1

(2) 2

(3) 3

4) 4

1[Option ID=5673]
2[Option ID=5674]




3[Option ID=5675]
4[Option ID=5676]

Sl. No.70
QBID:1103070

Match List-I with List-1I

List-I List-I1
A | Caitra [ |Mesa
B. |Aivina II. |Mina
C. | Vaisakha III. |Tula
D. | Kartika IV. |Kanya

Choose the correct answer from the options given below :

1. A-II, B-1V, C-1, D-1II
2. A-1V, B-1, C-II1, D-II
3. AL B-1II, C-1I, D-IV
4. A-II, B-II, C-1IV, D-1

11

(2 2

3) 3

(@) 4

el I 914 T 11 BT fHer Piforg
A T I

INEE] L]

B |aifEq i

C. |3=mg 1 |qar

D. |@ifdd . |&

=i faU U f[ddhedl § I Tel IR &1 904 I ;

1. A-11, B-1V, C-1, D-III
2. A1V, B-1. C-1II, D-II
3. A-1, B0, C-I1, D-IV
4. A-ITI, B-11, C-IV, D-I

(1) 1

(2) 2

(3) 3

4) 4

1[Option ID=5677]

2[Option ID=5678]

3[Option ID=5679]
4[Option ID=5680]

Sl. No.71
QBID:1103071

Match List-I with List-II

List-I List-II
A [Bhogar I |Sivajfisnayogam
B. [Tirumilar II. |Cendararh-300
C. |Agastvar ITT. |Trrumandiram
» (7000 (zeven
D. |Sundarar V. i

Choose the correct answer from the options given below :

1. A-I, B-III, C-II, D-IV
2. A-IV, B-11, C-1, D-III
3. A-IIL, B-1, C-11, D-IV
4. A-1V, B-I1, C-1I, D-1

1 1

() 2

(3) 3

(4) 4




el I 914 T 11 BT fHer Piforg

T I Tt 11
A MR I [Rr§ Jans
B. [[FFH®R II. [¢53H - 300
C. [PARR 11 [foeAfq
D. [g<X V. [7000 (@14 E9IR)
i faU U faspedl 7 I 951 IR 61 99 ST -

1. A-I, B-III, C-II, D-IV
2. A-IV, B-11. C-1. D-1II
3. A-III, B-1, C-II, D-IV
4. A-IV, B-III, C-II. D-I

1) 1

() 2

3) 3

(4) 4

1[Option ID=5681]

2[Option ID=5682]

3[Option ID=5683]
4[Option ID=5684]

Sl. No.72
QBID:1103072

Match List-I with List-II

List-I List-II
A |Stva I |Aihole
B. [Sun II. [Khajuraho
C. [Caunisatha Yogini III. Brhadivara temple
D. Durga IV. Modhera

Choose the correct answer from the options given below :

1. A-II, B-1, C-IV, D-III
2. A-IIT, B-1V, C-1, D-II
3. A1V, B-11, C-1, D-III
4. A-III, B-1V, C-IL, D-1

)1
(2 2
(3) 3
(4) 4

YT 1 914 Al 101 BT fHer Piforg

T 1 T 11

A R L [dgId

B. ;iz I [GsRIEl

il TR | I [ggaiR Hic

D. [gt IV. [He]

i faU 770 fashedl & O ol 3R 1 99 Difolu

1. A-II, B-1, C-IV, D-III
2. A-III, B-IV. C-1, D-II
3. A-IV, B-II, C-1, D-III
4. A-II1, B-1V, C-1I. D-1

1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=5685]
2[Option ID=5686]




3[Option ID=5687]
4[Option ID=5688]

Sl. No.73
QBID:1103073

Match List-I with List-1I

List-I List-II
- For purification of
Tulasi I bty e
B. |Candana II. |For immunity
Ainalaks e For dyvssentric

linfection cure

For cleansing of

D. |Bilva V.
excretory system

Choose the correct answer from the options given below :

1. A-II, B-IV, C-II, D-I
2. A-I, B-1I, C-III, D-1IV
3. A-IL B-1. C-1V, D-II
4. A-1I, B-1, C-IV, D-1II

1) 1
() 2
3) 3
@) 4
YT 1 914 Al 101 BT fHer Piforg
T I Tt I
A g L |orrds & geaueg
B. [dcd i uﬁmﬂ%g_
C  |THAD! L _%,é eI & TR
D (&= IV [3He oF &1 XGdl ad

i fau 770 fashedl © 9 el IR 1 99 Difolu

1. A-IT, B-1IV, C-III, D-I
2. A-1, B-1I, C-111, D-IV
3. A-II1, B-1, C-1V, D-1I
4. A-I1, B-1, C-IV, D-1II

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=5689]

2[Option ID=5690]

3[Option ID=5691]
4[Option ID=5692]

Sl. No.74
QBID:1103074

Match List-I with List-1I

List-I List-I1
A |PORTIBI I. [VIETNAM
B. JANGKOR WAT II. [THAILAND
IWAT PHRA SI
| oF < ANPLIET III. CAMBODIA
MY  SON .
D: S ANCTUARY IV. [SUMATRA

Choose the correct answer from the options given below :

1. A-IV, B-1II, C-1I, D-1
2. A-1, B-II, C-1V, D-III
3. A1V, B-1II, C-I, D-II
4. A-II B-1. C-IV, D-1II




[OR!

() 2
(3) 3
) 4
YT 1S 914 I 11 BT fer Piforg
AT T I
A, [oifdf® W EEGEIL]
B. [Bf@iare I [urgeus
C. [aTe W1 i Ybe | 1L [delfedl
SRR .
D. rgord V. [

it fau T f[dhedi § 9 ggl IR &l 99 B :

1. A-IV, B-1II, C-II, D-I
2. A-1, B-1I, C-IV, D-1II
3. A-IV, B-IIL, C-1, D-TI
4. A-I1, B-1, C-IV, D-1II

(1) 1

(2) 2

(3) 3

4) 4

1[Option ID=5693]

2[Option ID=5694]

3[Option ID=5695]
4[Option ID=5696]

Sl. No.75
QBID:1103075

Match List-I with List-II

List-I List-II
A |Kucipudi I. KERELA
B. [Kathak II. |ASSAM
e ANDHEA
C. [Sattariva II1. bR ADESH
D. [Kathakali IV. [UTTAR PRADESH

Choose the correct answer from the options given below :

1. A-L, B-1II, C-1V, D-II
2. A-1IV, B-11, C-1II, D-1
3. A-IITL, B-1V, C-1I, D-1
4. A-1l, B-II1, C-1, D-IV

1) 1
(2) 2
(3) 3
4) 4

YT 1 914 i 101 BT fHer Piforg

T 1 Tl 11

A |ofagst I [

B. [Yd I |38H

C. g IIL. [y wem

D. [puda IV, [GR Ucw

i fau U faeedl #§ U el 3R &1 994 iU -

1. A-I, B-III, C-IV, D-II

2. A-IV, B-11, C-1I1. D-1

3. A-III, B-1V, C-I1. D-I

4. A-I1, B-11II, C-1. D-IV
(1) 1




(2) 2
3) 3
(4) 4
1[Option ID=5697]
2[Option ID=5698]

3[Option ID=5699]
4[Option ID=5700]

Sl. No.76
QBID:1103076

Arrange the following in the sequential order based on the Sankhya philosophy

A. 16 Elements
B. Prakrti

C. 5 Elements
D. Mabhat

E. Aharhikara

Choose the correct answer from the options given below :

b b =

=
M 0 W
N o

Lleli=l
> WP

Ommo

(1) 1
(2) 2
(3) 3
(4) 4

e GRIA W TR FHldRad @1 HHFUR oHaRYd HIfT;

A.l6dd

B. Ydbid

Cc.5dd
D. H{gd
E. ghR

i fou U A el § 9 T8l 3R &1 994 HIfof:

1.B.D.E.A, C
2.C,B,.D.AE
3 A DG BoE
4 E C,B.AD

11

) 2

(3) 3

(4) 4

1[Option ID=5701]
2[Option ID=5702]
3[Option ID=5703]
4[Option ID=5704]

Sl. No.77
QBID:1103077




What is the correct sequence of realization of the nature of Purusa as per the Taittarlya upanisads

A. Annamaya
B. Manomaya
C. Pranamaya
D. Anandamaya
E. Vijianamaya

Choose the correct answer from the options given below :

1.E,C,D,B,A
2.B,E.D,C,A
3.C.E.D.B.A
4.A.C,B,E,D

(1) 1

(2) 2

(3) 3

(4) 4

i UG & SER YN & Ubld Bl ofgH[d BT Hel 3hH HI-H1 8 2
A. SFHY
B. HHT
C. WU
D. <

E. fagmag
i QU U fadhedl T 9 Tgl 3R &1 994 Hifofu:

LLE/C. D, B A
2.B. E. D G A
3.C,E.D. B, A
4 A C,B,E,.D

1) 1

) 2

(3) 3

4) 4

1[Option ID=5705]
2[Option ID=5706]
3[Option ID=5707]
4[Option ID=5708]

Sl. No.78
QBID:1103078

Choose the correct option from the below that shows the time duration in an increasing order

A Truti
B. Lava
C. Nimesa
D. Asu

E. Pala

Choose the correct answer from the options given below :

1.A.B,C,D,E
2.B,C.D,E.A
3.CDEAB
4.D,;E.AB,C
1
(2 2

3) 3




(4) 4

14 feu a1t fasb el # 39 98l fddhed &l I Sl ded U (3R shH H GHY 3{qf% DI gxiidi g ?
Afe

B. @4
SAGELY

D. 3
E. Td

- fau

A

[ edl J I el IR b1 994 PIfL:

"-..MM»—-—«

A,
B,
ks,

.,

>mbm

WP g
O W

&
ml:lﬁbd

(1) 1
(2) 2
(3) 3
4) 4
1[Option ID=5709]
2[Option ID=5710]

3[Option ID=5711]
4[Option ID=5712]

Sl. No.79
QBID:1103079

Arrange the following Astronomers in chronological order (from old to new)

A. Nilakantha

B. Sankara Varman
C. Bhaskara-II

D. Paramesvara

E. Madhava

Choose the correct answer from the options given below :

W
Nnwew

> P

SRRl
MO0

wOwo

ol

11
(2) 2
(3) 3
(4) 4

FufiRad SRR &1 SIArHH @ @ s H Faiid i

A. Hld$had
B. Y& dHA
C. RGN - TI
D. IRAYR
E. 714G

i foU U fadhedl T I TEl 3R &1 9094 HIfIT:

e ol
MmN

wOwo
0 WP W

SRRl
P> m

=




(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=5713]
2[Option ID=5714]

3[Option ID=5715]
4[Option ID=5716]

Sl. No.80
QBID:1103080

Which is the correct order as per Astanga Yoga

A. Niyama

B. Pratyahara
C. Dharana
D. Pranayama
E. Asana

Choose the correct answer from the options given below :

1.B,A,C.D.E
2.0 REATD
3.A.E.D,B,C
4.A.D.B.E.C
1) 1
(2) 2
3) 3
4) 4
SFI ANT b TR BI--H1 ol PH G 2
A A
B. YAGR
C. YR
D. YIUIRITH
E. 3%
il faU ¢ fdspedl # 9 9g1 SR &1 99 SifvT:
1.B,A,C,D,E
2.C.B,E.A,D
3.A.E.D,B.C
4.A.D,B,E.C
1) 1
2) 2
3) 3
(4) 4

1[Option ID=5717]
2[Option ID=5718]
3[Option ID=5719]
4[Option ID=5720]

Sl. No.81
QBID:1103081




Arrange the temples and rock-cut structures geographically from North to South

A. Kedaranatha temple
B. Martanda temple

C. Khajuraho temple
D. Badami temple

E. Ajanta caves

Choose the correct answer from the options given below :

LN
G B

P oW
Sngao

o
mELD
N D mm

1)1
(2) 2
(3) 3
4) 4

frafatad Hfexl ud Aerdpd deamrel @l Hivlfdae w0 3 IR 9 aféur gafeyd Sifs:

A. BERATY AR
B. A0S HfeX

C. WoRTEl #fdR
D. drer #far

E. 3fSidl P14
T fau 70 fashedl © 9 el 3R &1 994 DifoIu:

w o
5

P o
Sapon

=
mHe o
NJdmm

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=5721]
2[Option ID=5722]

3[Option ID=5723]
4[Option ID=5724]

Sl. No.82
QBID:1103082

Arrange the following in sequential order as mentioned in Krsiparasara

A. People

B. Rain

C. Grains

D. Food

E. Agriculture

Choose the correct answer from the options given below :

1.D,C.,B,E A
2.C,D,E.B, A
3.B.E,.C,D. A
4.B.E.A.D. C

1) 1

) 2

(3) 3




DIYIRIER H aftld Fafafad i SrarspH H saiyd S

ALYl

B.df®

C.4-4g
D. 3d

E SN
i feu U A edl O 9 Ggl 3R &1 904 Hifofu:

1.D, CB.E.A
2.CLDE B A
3.BE.C.D, A
4B E A D,C

(1) 1

(2) 2

(3) 3

4) 4

1[Option ID=5725]
2[Option ID=5726]
3[Option ID=5727]
4[Option ID=5728]

Sl. No.83
QBID:1103083

Arrange the following composers chronologically (from old to new)

A. Annamacarya

B. Tanasena

C. Purandaradasa

D. Syama Sastri

E. Papanadam Sivan

Choose the correct answer from the options given below :

Wb —
onwp

> > >0
w WO D

MO Hw
O MmO

1) 1
(2) 2
(3) 3
(4) 4

FAfRAd TEATBRI B BITHHITIR (W ¥ HYATT) SHIRUd BT

A, 3FAFEY
B. dF9A

C. Qe
D. TG A
E. QT9-2H e

T fau 778 fashedl & 9 ol 3R &1 994 DifoIe:

1.LA.C.D.B.E

2.B,ADEC

3. C,CA_B.D,E

4.D.A.B.E.C
(1) 1

) 2




3) 3
4) 4

1[Option ID=5729]
2[Option ID=5730]
3[Option ID=5731]
4[Option ID=5732]

Sl. No.84
QBID:1103084

For the metals below, identify the correct sequence with respect to their resistance to resting as mentioned in the
text Rasarnava

A. Copper (Cu)
B. Silver (Ag)
C. Iron (Fe)

D. Lead (Pb)
E. Tin (Sn)

Choose the correct answer from the options given below :

1.B,C.A.D.E
2.B,A,C,E,D
3.B.C,AE,D
4.B,A,C.D,E
1) 1
(2) 2
3) 3
(4) 4
1A U H Ifcafad SivT-araRier & e | ik &) il erdefl & 98t ofdhd Bl Ugdu:
A T
B. Tofd
c.dg
D. T
E. feq
i feU U fadhedl § 9 T8l 3R &1 994 Hifofu:
1.B,C,A.D.E
2.B,A.C.E.D
3.B.C.A.E.D
4.B,A,C,D,E
1) 1
(2) 2
3) 3
(4) 4

1[Option ID=5733]
2[Option ID=5734]
3[Option ID=5735]
4[Option ID=5736]

Sl. No.85
QBID:1103085




Arrange the first historic visit of following Indian spiritual leaders in America in chronological orders

A. SWAMI MUKTANANDA

B. PARMAHANSA YOGANANDA
C. MAHARISHI MAHESH YOGI
D. SWAMI PRABHUPADA

E. SWAMI VIVEKANANDA

Choose the correct answer from the options given below :

ol
i B

u

OpMHp
oooOm
mwon
W w

g

1) 1
(2) 2
(3) 3
4) 4

FRRId YR sneide ol B HRST B YH Ui T B BIabHTER Haid HIfog:

A. ¥ HadHg
B. TRAGY IS
c. #gf Hew ar
D. W gyuTg

E. W [dderie

T fau 770 fashedl & 9 gl 3R 1 99 DifoIe:

W
o

SO0 m
mwYn
W

g
8 p 5 P

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=5737]
2[Option ID=5738]

3[Option ID=5739]
4[Option ID=5740]

Sl. No.86
QBID:1103086

Given below are two statements :

Statement I : In Aryabhatiya, the strings Makhi Bhakhi, Phakhi...etc represents 'Rsine' diffrence
Statement II : In Tantrasangraha, 'Rsine’ corresponds to 225’ is given as 224’50

In the light of the above statements, choose the correct answer from the options given below :

1. Both Statement I and Statement II are true
2. Both Statement I and Statement II are false
3. Statement I is true but Statement II is false
4. Statement I is false but Statement II is true

1) 1

(2) 2

(3) 3

4) 4




- ql Py fRu e B:

DY : AHAHN H, AR, 1R, BRI 3111S SR DI URId B T |

YA I : TAUUE H. R U154 225" I 31d ¢, o 224'50 & &4 § yafRid fear man g |
SWIGd HY & el H 1< 4T T fadedl 7 & gl IR 1 =90 DI

1. FF1 AR I GHI Td &

2. FYF1 3R 1 aHI 3T &

3. FYT 19 6, dfh- HYUT 11 3T &
4. FUI A S, AP PUT I I §

1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=5741]
2[Option ID=5742]
3[Option ID=5743]
4[Option ID=5744]

Sl. No.87
QBID:1103087

Given below are two statements :

Statement I : Arthritis is a problem related to Vata in Ayurveda.

Statement II : As per Ayurveda chewing betel leaves daily is recommended
In the light of the above statements, choose the correct answer from the options given below :

1. Both Statement I and Statement II are true
2. Both Statement I and Statement IT are false
3. Statement I is true but Statement II is false
4. Statement I is false but Statement II is true

11

2) 2

(3) 3

4) 4

i &l HU [GT T B

DY : IRdE & ATIR, AR AT a1d J Hafeid TR g |

DHYFIL : 3gde B AR, TUD R0 gd idfed IF Fa o1 goid fear S |
SWRIdd HYF & 3clieb H - fau ¢ fadedl # T gl I &1 999 DI

1. HYAI1 AR T aHI I &

2. FYA 1 AR I I 3 &

3. FY19d g, dib- DU 1T 3T &
4. FUA1 A G, AP DU 1T T ©

1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=5745]
2[Option ID=5746]
3[Option ID=5747]
4[Option ID=5748]

Sl. No.88
QBID:1103088




Given below are two statements : One is labelled as Assertion A and the other is labelled as Reason R.
Assertion A : The contemporary classical music of India namely Karnatic and Hindustani do not share any
common source in the past.

Reason R : Khayal, which is on inherent part of Hindustani classical music, is not a part of Karnatic music.
In the light of the above statements, choose the most appropriate answer from the options given below :

1. Both A and R are correct and R is the correct explanation of A
2. Both A and R are correct but R is NOT the correct explanation of A
3. Ais correct but R is not correct
4. A is not correct but R is correct
)1
2) 2
(3) 3
(4) 4
19 21 By ST : U B YUA (Assertion A) P 0 ¥ iR € I GERT 3HP HRU[ (Reason R) b &Y
H,

SHUDHYA A - GHDIA YR Gid & beice Ud fg-geart diiid sicfid o fobdt ot qum did o1 iz el
PRAY |

BRI R : fg~gEdrl Wifid &1 U siayd siv1 @ard SHics Hifid o1 s8¢ |
SWRIFd HUYF P affelicd H i AU T faboul # I ga Iugad IR &1 99 DI

1. A3R RS Ugl g 3R R, A PI UgI RSN &
2. A 3R R I gl g, dfdhd R, A Pl Tol AR ol o
3. AT g AfBTR USRI &
4. AT el g dfPIR Ul B
= »
3) 3
(4) 4

1[Option ID=5749]
2[Option ID=5750]
3[Option ID=5751]
4[Option ID=5752]
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Given below are two statements : One is labelled as Assertion A and the other is labelled as Reason R.
Assertion A : Many South-East Asian countries have/had names derived from Samskrta words ?
Reason R : India had/has deep cultural influences in South-East Asian countries.

In the light of the above statements. choose the most appropriate answer from the options given below :

1. Both A and R are correct and R is the correct explanation of A
2. Both A and R are correct but R is NOT the correct explanation of A
3. Ais correct but R is not correct
4. A is not correct but R is correct
1) 1
) 2
(3) 3
(4) 4




19 G PUA (ST U B: Ub MDY (Assertion A) b U H [ARdd § dl GHI 3P HRUI (Reason R) b &U
#,

HIHBUT A : 3] SI&U1-d TRATY =T & A H¥pd Weal 4 = 6 / 2 |
DRUIR : HRd D SEU1-Yd TRMATE ST 0 718 Gikhide UHIG o1/ 7 |
SURIF SHY-T & 3HTelld | 1< ST T fadb el # ¥ 963 Iugadd 3R &I 94 BIfT:

1. A3RREHI Ugl g 3R R, ADI Tg! AR &

2. AR RS UL 5, Afh-1 R, A Pl Tl RS T8l &
3. ATEl g dfBPTR Uel A6l &

4. ATEI Aol g dfPAR Ul &

1) 1
) 2
(3) 3
4) 4

1[Option ID=5753]
2[Option ID=5754]
3[Option ID=5755]
4[Option ID=5756]
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Given below are two statements :

Statement I : Abhijiianasakuntala was the first Samskita drama to be translated into a European langauge
Statement II : Charles Wilkins first translated Bhagwad Gita in English langauge

In the light of the above statements, choose the correct answer from the options given below :

1. Both Statement I and Statement II are true
2. Both Statement I and Statement II are false
3. Statement I is true but Statement II is false
4. Statement I is false but Statement II is true

11

() 2

(3) 3

4) 4

deiHyfeuue:

DY 1 : HHFTDH de Y HINT H 3fIfed gI-aTell Ugdl H¥hd e AT |
DY 1 : T fdfeeh=a 4 HiTde a1 D1 Tl Ugd 2H2sil HINT H 3rdTe fohar ot |

SR HY & HTcllp T -id fGU U fabedi § 9 gl 3R &l 999 HIfe:

1. HYTIMRISHI Ia g
2. HYTI AR I SHl oA &
3. HYT 1 TA 5. Al HUT 11 3T ©
4. BYF1 NI §, AP HYA 11 I §
1) 1
(2) 2
3) 3
4) 4

1[Option ID=5757]
2[Option ID=5758]
3[Option ID=5759]
4[Option ID=5760]
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Read the following passage and answer the questions given below :

There has long been a temptation for Indian scholars, and those brought up in an environment of Indian studies,
to see in early Indianized South-East Asia an exact reflection of the various periods and schools of the
civilization of metropolitan India. Much scholarly writing, for example. has been devoted to attempts to
determine the precise Indian prototypes for such great South-East Asian monuments as the Borobodur stupa in
Java and the Khmer temples of Cambodia. These structures are obviously in the Indian tradition. Their ground-
plants, for example, and the subject-matter of their sculptural decoration, can easily be related to Indian religious
texts. Yet a careful study of monuments such as these suggests that the Indian aspect is only one part of the story.
While beyond doubt showing signs of Indian influence, yet Borobodur and Angkor Wat are not copies of Indian
structures. There exists nothing quite like them in the Indian archaeological record. The vast majority of the
Hindu and Buddhist monuments of South-East Asian flavor. It is reasonable to consider the styles ot art and
architecture of the Khmers, Chams, and Javanese as styles in their own right and something much more than the
imitation of Indian porotypes. These styles, as Coeds and other scholars have expressed it, as Indianized rather
than Indian. The Indian inheritance in South-East Asia is not to be found in the unthinking repetition of Indian
forms; rather, it is to be seen in the inspiration which India gave to South-East Asia to adapt its own cultures so
as to absorb and develop Indian concepts. The resulting syntheses are peculiar to South-East Asia.

I fou 770 TR o1 ufgd SR Iu® i faT 7T Ui @1 IR i

dd gAY 9 YR fagrl SR YR uRaw & gad-d¢ @il & e YRS dR 1R HRAE &d cléu-gd
TR H ARG YR @1 9udl & [dfte Srads] 3R Wl &1 Gl Hidfdd ¢E- &1 Ay @I3g |
ey, 9gd URT fdgargul o a1 H dRIgER WU 3R daliedl & Wik Al 514 AgH afau-yd
TRMATE RS & A< YR Wielersy & FHuiRd &= & vl & faw aafia § |1 3 SRem Oy & u g
YR TWRTH € | T8R0T & 1T 3@ Y ATSHTE 3R 3761 Hfcldhal & golde (ddmon) &1 favga
Dl HRAY fHed UUl ¥ A A SIST S Kebdl § | UMY 37 51 ARSI & Fraea-gde fby 7T g
3 fears <l @ fob WRTg g e de &l dhad U foxl ¢ | Feddg YR gHmal & deor fiGard gu o,
IRIGSR 3R fPRaTe, HRAT W1 &1 wiaeiadl 781 8 | YR Ridad Rars § [dagpd 34 oig
B3 Yl [GaH 181 € | Sl&1-gd Uimn & Siieebier [ SR |l WRS| H ST (0T ud gRId &1 |
o 7T o1, AT Hiergdl Qdledl & SR 9 Ygel, T i afami-yd gRiars gerd (Jaf) ¢ | WhR, Ird
3R SI1E1 &1 QAferd &1 Ham 3R RITTA B D1 301 ATl b TG H 3R HRA™ Uielelsd &1 9dhd
Tel, S S & TG T S/ S 81T | S [ HIuey iR 317 fagmi = e foan § 7 3 e,
HRG §1F & §9ii YR d & | Gi01-gd TR # YR faRd o1 4R Wl # 3fd=riRd glexrd
H g1, 9lesp, 39 URUIT H &A1 ST 96T Sl HIRd  afav-yd UiRgT 1 ou-i Wil & rha od JaH
ﬁﬁrﬁ%m—cﬂﬂ SAURUNST BT MTETHTd 3R faHRyd fovar 5w | aRomet e afémor-qd ufkmm & fae
fafra ¢ |

Which among the following is a structure based on Indian Tradition ?

1. Borobodur Stupa, Malaya
2. Khmer temples, Cambodia
3. My Son Sanctuary, Thailand
4. Wat Phra Si Sanphot Vietnam
1) 1
() 2
(3) 3
(4) 4

Faffad & 9S-I S HRI WO R 2neaiRd © -

1. SRIgGY XU, Had
2. @HY AfeR. Hifsy

3. {13 I Yo, UIscis
4, dTc Wl 91 9-%e, fagda™

(1) 1
) 2
(3) 3
(4) 4

1[Option ID=5761]




2[Option ID=5762]
3[Option ID=5763]
4[Option ID=5764]
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Read the following passage and answer the questions given below :

There has long been a temptation for Indian scholars. and those brought up in an environment of Indian studies,
to see in early Indianized South-East Asia an exact reflection of the various periods and schools of the
civilization of metropolitan India. Much scholarly writing, for example, has been devoted to attempts to
determine the precise Indian prototypes for such great South-East Asian monuments as the Borobodur stupa in
Java and the Khmer temples of Cambodia. These structures are obviously in the Indian tradition. Their ground-
plants, for example, and the subject-matter of their sculptural decoration, can easily be related to Indian religious
texts. Yet a careful study of monuments such as these suggests that the Indian aspect is only one part of the story.
While beyond doubt showing signs of Indian influence, yet Borobodur and Angkor Wat are not copies of Indian
structures. There exists nothing quite like them in the Indian archaeological record. The vast majority of the
Hindu and Buddhist monuments of South-East Asian flavor. It is reasonable to consider the styles ot art and
architecture of the Khmers, Chams, and Javanese as styles in their own right and something much more than the
imitation of Indian porotypes. These styles, as Coeds and other scholars have expressed it, as Indianized rather
than Indian. The Indian inheritance in South-East Asia is not to be found in the unthinking repetition of Indian
forms; rather, it is to be seen in the inspiration which India gave to South-East Asia to adapt its own cultures so
as to absorb and develop Indian concepts. The resulting syntheses are peculiar to South-East Asia.

i 13T U TTerier i ufed 3R I9d i 4T 71U wei &1 Ik dIfSTe:

dd gAY ¥ YR fagHl SR YRdTg uRaw & yd-a¢ dil & e Rt dR )R YRA &d aféungd
TR H HeRIG YR @1 9¥dl o [dfYe dads] 3R Whdl &l 9l Widldd ¢E- & daiv @3 |
JareXuny, dgd URI fdgargul da- Sirar # dRIggY WU 3R DalfSar & @R HiART S #EH Glaur-gd
TS FIRG| & faxls YR Hielersd &t M w37 & vl & foe gafifa § | 3 Saam wy 9 9
YR IWIRI A § | 3216R01 & [T 391 Y- AT 3R 3961 Hfcldhdll @] Golde (fcdo)) o1 favga
DI YR e UY 9 G Y SIST S Webdl 6 | JUIMY 3 ofY WRDI & FrdeIa-igdd by 7T &g
3 fears <l & o YR Ug e de &l dhad U fewdl ¢ | Feddg YR gural & deor fieard gu o,
IRIgER AR SPpRare, YR GRa-1el &1 Wiadical Tl ¢ | YR QRIdiad Re1s o [qagpd 36 ol
T I [aem= 781 € | <f3or-gd uikmn & e i 3R 91 WRS! 1 o1 Fufor od gRid o1 4
T T T, AT Siergdl 2dlsdl & SR F Ugel, T Hi%d SfaMl-yd TRiams e (aft) § | ThR, 9
3R a1 &1 QAferdl &1 Ham 3R T S 3931 -1 Aferdf & =9 # 3R HRA™ Uielersd &1 96d 9
Tel, B N & T T S/ STH g1 | oI b BIusy SR 31 fagmi 7 ogad favan g o 3 e,
HRAG B & §oii R d ¢ | afamr-yd g d HRdR f[aed o1 R el | sifd=nid giewrd
H 8T, afcsp, I URON H <41 ST A8 Sl HRd A af&-yd ¢iRiEm 1 oy Wil & srha 8d UaH
E‘Tfrr%gm—cﬂtl SfaeROTHT &1 T 3R [ favan 5 e | ufvormdt Seeror afémr-gy ufden & fog
fafra ¢ |

The South East Asian Monuments have very peculiar style because they are :

1. Not the repetition of Indian styles
2. The Exact copy of Indian Monuments
3. Unthoughtful repetition of Indian form
4. The inspiration from India adapted in their own cultures
)1
(2 2
(3) 3
(4) 4

o g R SR H G Fafkrs Sieh a2 e 3

1. R el &1 algrd (YRIGRY) T8l € |

2. HRAK WRD| Pt [q23g UfdHpid g |

3. YR &Y &1 HfIaRd Seva © |

4. 3T+ 9 Pl H¥pid H edhied HRd I IR |

) 1




(2) 2
3) 3
(4) 4
1[Option ID=5765]
2[Option ID=5766]

3[Option ID=5767]
4[Option ID=5768]
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Read the following passage and answer the questions given below :

There has long been a temptation for Indian scholars, and those brought up in an environment of Indian studies,
to see in early Indianized South-East Asia an exact reflection of the various periods and schools of the
civilization of metropolitan India. Much scholarly writing, for example, has been devoted to attempts to
determine the precise Indian prototypes for such great South-East Asian monuments as the Borobodur stupa in
Java and the Khmer temples of Cambodia. These structures are obviously in the Indian tradition. Their ground-
plants, for example. and the subject-matter of their sculptural decoration, can easily be related to Indian religious
texts. Yet a careful study of monuments such as these suggests that the Indian aspect is only one part of the story.
While beyond doubt showing signs of Indian influence, yet Borobodur and Angkor Wat are not copies of Indian
structures. There exists nothing quite like them in the Indian archaeological record. The vast majority of the
Hindu and Buddhist monuments of South-East Asian flavor. It is reasonable to consider the styles ot art and
architecture of the Khmers, Chams, and Javanese as styles in their own right and something much more than the
imitation of Indian porotypes. These styles, as Coeds and other scholars have expressed it, as Indianized rather
than Indian. The Indian inheritance in South-East Asia is not to be found in the unthinking repetition of Indian
forms; rather, it is to be seen in the inspiration which India gave to South-East Asia to adapt its own cultures so
as to absorb and develop Indian concepts. The resulting syntheses are peculiar to South-East Asia.

i fou 77U TTeriwr i gfed 3R 39 i U 7T sl &1 I <ol

e gAY A HRAY gl SfiR HRdTE uRd= # yal-d¢ il & o1t YRS dR 1R HRAE $d Gléu-gd
TR H ARG HRd @1 9RId] & [dfHd Brads] 3R ¥l &l Géie Hidfdd ¢E- 1 aH @3 |
3argund, dgd IR [dgdiyul o Siral H dRI4eR WU 3R ddlfSar & WHR HidRT oY HgM afau-gd
TR RS & A%< YR Hiciersy &1 FHeiiRd S & vl & faw g0t 8 | 3 $aqi wy U g
YR IWRRI A | 321601 & [A78 391 Y- AT 3R 3961 Hfcldhal @1 Galde (o)) o1 favga
DI YR it T2 9 A I SIST S bl ¢ | JUMU 3 oY WRS| & IraIa-igdd fhy U seqa-
¥ fears ar & o WRdTg ugq @ & dhad U fewn ¢ | s YRdIg wHTal & deor i gu o,
FRIGER 3R fPRaTe, HRAE WRa-13il & wiasiaar el ¢ | YR Ridrad Rare § feagd 34 o
o3 ol [aem 781 € | <fémr-gd ufdmn & eifieiel 3= oiR dig wIRS! 1 fomeT At gd gridia o o
e 711 o, AT+t Hiergdl Qdledl & SR 9 Ugel, T (i afaml-yd QRiars FerE (Yaf) ¢ | GhR, I
IR SiTd1 1 Al B bl 3R R Dl 31 U Aferdi b Y H 3R 4R Yielergy &l Ihd d
el S AYS & TG H S/ SH 81 | Wi [ PIUSY R 31 fagHi 3 ogad faan g 3 3 2,
HRAI g1 & §oil HRdgPd & | afam-gd g & 4Rk f[aRed o1 R el § sifd=rid glgwd
H g1, afcsp, I ORON H <41 ST A8 U Sl HRd A af&v-yd uiRign 1 o+ Sepfagl & srhad 8d UaH
Eﬁ?ﬂﬁ?ﬂ?‘cﬁﬂ YRS B AT AR fAHd fhar S g | uRom} oy gfémr-gd ek & fog
farRe=g § |

A definite South East Asian flavour is found in which of the following monuments ?

1. Hindu monuments constructed after European period

2. Hindu and Buddhist monuments constructed before opening of 16t century
3. All monuments which are exact copy of Indian style

4. Monuments constructed after 18 century
1) 1
(2 2
(3) 3
(4) 4




frafeiad fw WRS # ud My <famn gd TR e (di) o™ sidarg 2

1. d g FR® Sl QIR $1d & &1q I by 1w |

2. d fg=g 3R dlg ¥4 et ¥R ol 1641 Wdled] & AHRY g+ & gd (AfHd fhu i |
3. d gHl HRS ol HRAR el Bl f[qgg (F1e) Ufdpia g |

4.9 ¥IRS gl 1841 dl & &1 (Afdd fhu g |

1) 1
(2) 2
3) 3
(4) 4
1[Option ID=5769]
2[Option ID=5770]

3[Option ID=5771]
4[Option ID=5772]

Sl. No.94
QBID:1103094

Read the following passage and answer the questions given below :

There has long been a temptation for Indian scholars. and those brought up in an environment of Indian studies,
to see in early Indianized South-East Asia an exact reflection of the various periods and schools of the
civilization of metropolitan India. Much scholarly writing, for example, has been devoted to attempts to
determine the precise Indian prototypes for such great South-East Asian monuments as the Borobodur stupa in
Java and the Khmer temples of Cambodia. These structures are obviously in the Indian tradition. Their ground-
plants, for example, and the subject-matter of their sculptural decoration, can easily be related to Indian religious
texts. Yet a careful study of monuments such as these suggests that the Indian aspect is only one part of the story.
While beyond doubt showing signs of Indian influence, yet Borobodur and Angkor Wat are not copies of Indian
structures. There exists nothing quite like them in the Indian archaeological record. The vast majority of the
Hindu and Buddhist monuments of South-East Asian flavor. It is reasonable to consider the styles ot art and
architecture of the Khmers, Chams, and Javanese as styles in their own right and something much more than the
imitation of Indian porotypes. These styles, as Coeds and other scholars have expressed it, as Indianized rather
than Indian. The Indian inheritance in South-East Asia is not to be found in the unthinking repetition of Indian
forms; rather, it is to be seen in the inspiration which India gave to South-East Asia to adapt its own cultures so
as to absorb and develop Indian concepts. The resulting syntheses are peculiar to South-East Asia.

i 13T U TTerier i ufed 3R I9d i 4T 71U wei &1 Ik dIfSTe:

dd gAY ¥ YR fagFl SR YR uRaw & gd-a¢ dil & e yRfte dR )R YRA &d aféu-gd
TR H HEFRI YR &1 99l & [aiie Bieds! iR Whdl &l Gl Yldfdd 4@ &l v @I ¢ |
3argRund, ggd IR [dgdyul o Srar H dRIgeR WU 3R HelfSar & WHR HiGRT oY H#gM af&v-gd
TR RS & A%< YR Hielersy &l MeiiRd S & vl & fau gafid § | 3 $aq wy U g
YR IWRT A € | 321601 & AT 391 YT 3R 3961 Hfcldhall ] Golde (ado)) &1 favga
DI YR e UY 9§ G Y SIST S Kebdl ¢ | JUIMY 3 oIY HRDI & FrdeIa-iTgdd by 7T &g
3 fears <l & 1o YR U e der &l dhad U fewdl ¢ | Feddg YR gural & deor fieard gu o,
IRIgER AR SPpRare, YR Ga-1el &1 wiadiaal Tl ¢ | YR QRIdiad Re1s H [qagpd 36 ol
T I [aem= 781 € | <f3or-gd uikmn & e i 3R 91 WRS! 1 o1 Fufor od gRid o1 4
T T 241, AT Aiergdl Qdlsal & SR H Ugel, U I SIaM1-yd URiams (e (aft) § | WhR, am
3R a1 &1 QAferdl &1 Ham 3R T S 3931 01 Aferdf & =9 # 3R HRA™ Uielersd &1 96d I
el B N & T T S/ ST I | ST b HIusy SR 317 fagHi 7 ogad favan g o 3 e,
HRAT B & §oii R d ¢ | afamr-gd gimn d HRdR f[ARd o1 R el | sifd=nikd glerd
H 8T, afcsp, I URON H <41 ST A8 Sl HRd A af&-yd ¢iRiEm 1 oy Wil & srha 8d UaH
E‘Tfrr%?ﬂ?—cﬂtl SfaeROTHAT &1 T 3R e favan 5w | ufvormdt Seeror afémor-gd ufdrn & fog
fafra ¢ |

Which aspect of temples in South East Asia can easily be related to Indian religious texts ?

1. plans of Shikharas

2. ground plans

3. plans of first floor

4. plans of Garbha Griha




1) 1
(2) 2
(3) 3
4) 4

&7 ud TR ® HieR & DIH-Y Ug Dl HRAR UTiH® Ui § o 8 SieT Sl Yl § 2

1. Rl 1 FroTg
2. ¥ (3MTYR) TISHTY
3. YYH Td &1 GIoHTY

4. g Y FieAd

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=5773]
2[Option ID=5774]

3[Option ID=5775]
4[Option ID=5776]
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Read the following passage and answer the questions given below :

There has long been a temptation for Indian scholars. and those brought up in an environment of Indian studies,
to see in early Indianized South-East Asia an exact reflection of the various periods and schools of the
civilization of metropolitan India. Much scholarly writing, for example, has been devoted to attempts to
determine the precise Indian prototypes for such great South-East Asian monuments as the Borobodur stupa in
Java and the Khmer temples of Cambodia. These structures are obviously in the Indian tradition. Their ground-
plants, for example, and the subject-matter of their sculptural decoration, can easily be related to Indian religious
texts. Yet a careful study of monuments such as these suggests that the Indian aspect is only one part of the story.
While beyond doubt showing signs of Indian influence, yet Borobodur and Angkor Wat are not copies of Indian
structures. There exists nothing quite like them in the Indian archaeological record. The vast majority of the
Hindu and Buddhist monuments of South-East Asian flavor. It is reasonable to consider the styles ot art and
architecture of the Khmers, Chams, and Javanese as styles in their own right and something much more than the
imitation of Indian porotypes. These styles, as Coeds and other scholars have expressed it, as Indianized rather
than Indian. The Indian inheritance in South-East Asia is not to be found in the unthinking repetition of Indian
forms; rather, it is to be seen in the inspiration which India gave to South-East Asia to adapt its own cultures so
as to absorb and develop Indian concepts. The resulting syntheses are peculiar to South-East Asia.

i fou 71 TRy o1 ufed SR Iud e faT 7T Ui @1 IR i

dd THY ¥ YR fagFl SR YR aRaw & ga-a¢ dil & e URYeS dR )R YRAG &d Gl&o-gd
TR H HeTRIY YR @1 9XIdl o (a9 drads] 3R ¥hdl &l 9id Hidldd ¢a- &1 daiv @3 |
3a1guNy, 9gd AR [dgaryul oRa Sra1 § dRIgER WU 3R dhelfSar & WhR HiGR! oY HgM al&vr-gd
TR SRS ! & fa<s YR Wielersy &t FHeiiRd &= & vl & fag wafda € | 3 Sami Oy &0 g
YRR IRIRTA § | 36RO & (Y IA! Y AISHS 4R 39! Afclre @ Totae (fddmRon) @1 fawaasg
Dl R fHd T G I SIST S Webdl ¢ | JUIMY 3 oI HRSDI & JideIa-iTgdd by 7T &g
3 fears <l 8 fob YR Ug e der &l dhad U gxl ¢ | Fedds YR gHral & deor fieard g o,

3R sl Rare, YR da-1e &1 wiasiaal 981 § | YR GRafds RerS | [9asd 346 o
B Ul [9am 121 § | <f&01-gd uikmn & Siieeier =g SR 4l WR| 1 ST fmior ud grId &re 1
T 7Ty o1, A1t Hiergdl 2AdTsdl & SR W Ugel, U i afaml-yd gRiars gera (Yaf) ¢ | WhR, I
3R 1T F1 ATerdl &1 Ham MR RITTA B IAD1 201 ATl b =9 H R HRA™ Uielesd &1 9&d
el S M & T N S/ STH g1 | S s BIugy SR 317 fagHi 7 ogad favan g & 3 2ifer,
HRA §IF & §oil RS d & | GIA01-9d YRR H YRR [aRId 1 4R W@yl H ffa=rRd glexrd
H 8T, afcep, I UROM H 341 ST AR T Sl HRd 7 af&-yd ¢iRm o1 ou-ii Sepiadl & srhad 8d UaH
E‘Taﬁgm—cﬂtl A RO &1 AT 3R [ favan i e | ufvormedt e afémr-gd ufdwn & fog
fafra ¢ |




The, art and architecture of Khmers, chams and Javanese are

. Indianized

. Indian

. Cambodian
4. Metropolitan

1) 1

(2 2

(3) 3

4) 4

TR, IR 3R SITaT & Hell 3R M &
1. HRdhd
2. YRAI
3. FHifeas
4. HeFRI
1) 1
(2) 2

3) 3
(4) 4

1
2
3

1[Option ID=5777]
2[Option ID=5778]
3[Option ID=5779]
4[Option ID=5780]
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Answer the following questions based on the passage below

Music, as understood by some, is but the ordered succession of sounds with a view to producing a pleasing
effect. But this does not, in the opinion of others, cover the whole field. For as manifestation is synchronous with
motion and motion with sound, the motion of atoms in systems cannot but produce an ordered succession of
rhythmic and well-balanced sounds. Perhaps this is what Shakespere means by the ‘music of the spheres’. Yet
this is not the music we are accustomed to hear. The bare succession of sounds pleases only the ear, which is but
one of the senses. Its effects have therefore a beginning and an end. Higher than that lie the fields o mind, of
intellect, of reason and of spirit; and music, rightly understood, must be in touch with all these planes of thought
and activity. Our forefathers indeed claimed for it almost everything-all the aims of lie, the purusarthas. They
claimed also that it was the easiest and the pleasantest path that led souls directly to the feet of the Great Father.
Verily, this result is predicated of only one other means of attainment, namely, Brahma-jnana, the knowledge of
Brahman, with which, therefore music is on the same footing.

AR iU & MYR R YA H IR G |

fid, ST b o ANl gRTGHS SIdl &, g&e UHId Ucl H- Dl =P § @i &1 U e s | §
i1 ORI 1 19 | g X &3 &1 Hax ol Bl o, didb AHATRT, Tid o G GHSBIAD 5 3R @i &
1Y T, Gonferdl H TRATIe D Mid aUds 3R 31 dg U Udfeld @il & Ueh hHds 3shH D1 goid
DN Gl | | G Ug AFUIIR 1 Jfoid 3t Thigy U =M qUIiY g 98 WiId o ¢ o - & g
TSl § | 9 BT BN HH Had B I 351 Al © oIl hdd UP e 8l 6, SHITTC ITb YHTAl BT Tdh
3RH 3R TSP 3(d Bl 5 | 3 Dl e A, §feck, HRUT 3R THT BT fAxIR ¢ 3R Hifld, o gl
1 T 6, fa9R Td Mfdfafd & 39 9+t &Ri & Hud | gIH1 =1fgT | §HR Ydull - dRkdd H, 39 fog
THTHAT GHE DI ardl [ha1 o - Sita- & g1 Ied a1+ goud, 3 gg Hi a1 (441§ 4 a8 9ad oM
Ud e AR § off efretal 1 diel #gH U1 & =Rol o $idl g | 9Rdd H, 98 URUIH WIftd & UHHE Uh
3 e ST FERI, S8l DI 371 1 R ¢ forgds g1y, 39iee, GHitd o1 g goli ¢ |




Given below are two statements :

Statement I : The bare succession of sounds pleases mined and intellect only
Statement II : The effects of bare succession of sounds have a beginning and end.
In the light of the above statements, choose the most appropriate answer from the options given below :

1. Both Statement I and Statement IT are correct
2. Both Statement I and Statement IT are incorrect
3. Statement I is correct but Statement II is incorrect
4. Statement I is incorrect but Statement II is correct
11
(2) 2
(3) 3
4) 4

GIECEREACIRI g

HYF 1 : A BT BIY HH bad HIETD, U4 §fG &1 T9d Sl g |

DY 1 : @Gl D BIR BHH o UHIG BT YRH T4 T 3 gial g |

SWRIFd HYF P el H i U T fadbedi # I a8 Iugad IR DI 94 DI

1. SYTT IR 1 2l gel &
2. FYF1 AR 1 &HI T9d &
3. HYUT 1 el ©. b HYF 1700 &
4. FYT17T0d o, AP HYT I Tl o

1) 1
(2) 2
3) 3
4) 4

1[Option ID=5781]
2[Option ID=5782]
3[Option ID=5783]
4[Option ID=5784]

Sl. No.97
QBID:1103097




Answer the following questions based on the passage below

Music, as understood by some, is but the ordered succession of sounds with a view to producing a pleasing
effect. But this does not, in the opinion of others, cover the whole field. For as manifestation is synchronous with
motion and motion with sound, the motion of atoms in systems cannot but produce an ordered succession of
rhythmic and well-balanced sounds. Perhaps this is what Shakespere means by the ‘music of the spheres’. Yet
this is not the music we are accustomed to hear. The bare succession of sounds pleases only the ear, which is but
one of the senses. Its effects have therefore a beginning and an end. Higher than that lie the fields o mind, of
intellect, of reason and of spirit: and music, rightly understood. must be in touch with all these planes of thought
and activity. Our forefathers indeed claimed for it almost everything-all the aims of lie, the purusarthas. They
claimed also that it was the easiest and the pleasantest path that led souls directly to the feet of the Great Father.
Verily, this result is predicated of only one other means of attainment, namely, Brahma-jnana, the knowledge of
Brahman, with which, therefore music is on the same footing.

fFAfIRIT Tiw & YR W Ui b IR S |

T, ST b o ANl gRT9HS SIdl 5, 966 YHIG Ual B Dl =8 U @l &1 U e vH HIE §
T ORI &1 19 H Ig U &3 & daR gl Bl ¢, did Sl Tid o qrd GHEIS g 3R @i &
1Y 1fdt, yonferal # uRATULR B T1id dds HR o3l dvg § Hdferd @il & U shHdg 3IshH Bl goi
DT El | | 2RIE Ugt AaUIR 1 /i St ThIgd I 1= qU1Y g5 98 difid 181 & 58 G & gH
3Tl & | €l BT I HH Bhad S B 33T Al & oIl bad Udb 31l ol 6. SUITAT 3D UYTEl B Uh
HRH AR TP Hd gIdl & | I Dl i H#1, dfs, DRUN SR 1A D1 [G&IR © IR difid, o9 gel
U T 6, faaR Td nfafafy & 39 92t &Ri & Hud § g1 =91feT | §HR Yduil - arkdd H, 38 fog
AT QI DI ardl [har o - Sita- & g Ie=a a1+ geud, 31 gg i aral a1 § & a8 &y SrEH
Ud Ee AR ¢ S SHTereil 1 i AgH U1 o =Rull & 9l ¢ | 9Rdd H, Ig URUIH WIftd & THHHA Th
3 HIYH 37T SR, I BT IH &1 HUR® § 5 914, 3qierg, Siiid H1 9 goll ¢ |

How do the sounds produce pleasing effects ?

1. by ordered succession of rhythmic and balanced sounds
2. through melodious singing
3. through the ensemble of instruments
4. by their expression through sahitya
1
(2 2
(3) 3
(4) 4

Ff ] P <D UHI Idd Rl ¢ 2

1. dUdg Ud Hdferd il & IafRid o hH gRI
2. HARRI T 9

3. ArE-4A1 & Yo 9

4. Hlfed & A1e9H 9 3] A HHad gRI

1)1
(2) 2
(3) 3
4) 4

1[Option ID=5785]
2[Option ID=5786]
3[Option ID=5787]
4[Option ID=5788]

Sl. No.98
QBID:1103098




Answer the following questions based on the passage below

Music, as understood by some, is but the ordered succession of sounds with a view to producing a pleasing
effect. But this does not, in the opinion of others, cover the whole field. For as manifestation is synchronous with
motion and motion with sound, the motion of atoms in systems cannot but produce an ordered succession of
rhythmic and well-balanced sounds. Perhaps this is what Shakespere means by the ‘music of the spheres’. Yet
this is not the music we are accustomed to hear. The bare succession of sounds pleases only the ear, which is but
one of the senses. Its effects have therefore a beginning and an end. Higher than that lie the fields o mind, of
intellect, of reason and of spirit: and music, rightly understood. must be in touch with all these planes of thought
and activity. Our forefathers indeed claimed for it almost everything-all the aims of lie, the purusarthas. They
claimed also that it was the easiest and the pleasantest path that led souls directly to the feet of the Great Father.
Verily, this result is predicated of only one other means of attainment, namely, Brahma-jnana, the knowledge of
Brahman, with which, therefore music is on the same footing.

fFAfIRIT Tiw & YR W Ui b IR S |

T, ST b o ANl gRT9HS SIdl 5, 966 YHIG Ual B Dl =8 U @l &1 U e vH HIE §
T ORI &1 19 H Ig U &3 & daR gl Bl ¢, did Sl Tid o qrd GHEIS g 3R @i &
1Y 1fdt, yonferal # uRATULR B T1id dds HR o3l dvg § Hdferd @il & U shHdg 3IshH Bl goi
DT El | | 2RIE Ugt AaUIR 1 /i St ThIgd I 1= qU1Y g5 98 difid 181 & 58 G & gH
3Tl & | €l BT I HH Bhad S B 33T Al & oIl bad Udb 31l ol 6. SUITAT 3D UYTEl B Uh
HRH AR TP Hd gIdl & | I Dl i H#1, dfs, DRUN SR 1A D1 [G&IR © IR difid, o9 gel
U T 6, faaR Td nfafafy & 39 92t &Ri & Hud § g1 =91feT | §HR Yduil - arkdd H, 38 fog
AT QI DI ardl [har o - Sita- & g Ie=a a1+ geud, 31 gg i aral a1 § & a8 &y SrEH
Ud Ee AR ¢ S SHTereil 1 i AgH U1 o =Rull & 9l ¢ | 9Rdd H, Ig URUIH WIftd & THHHA Th
3 HIYH 37T SR, I BT IH &1 HUR® § 5 914, 3qierg, Siiid H1 9 goll ¢ |

What are the aspect(s) truly affected by music ?

1. mind only
2. mind and intellect only
3. mind, intellect and reasoning only
4. mind, intellect, resign and spirit only
1
(2 2
(3) 3
(4) 4

DI T/ Hiiid gRT aRdd H UHIiad gid g 2

1. dad Af&TSH
2. HIETH T4 gfg
3. Hi%T™P, gfec; Ud dbl
4. HIKTP, Sfee, THA1Td AT
) 1
() 2
3) 3
(4) 4

1[Option ID=5789]
2[Option ID=5790]
3[Option ID=5791]
4[Option ID=5792]

Sl. No.99
QBID:1103099




Answer the following questions based on the passage below

Music, as understood by some, is but the ordered succession of sounds with a view to producing a pleasing
effect. But this does not, in the opinion of others, cover the whole field. For as manifestation is synchronous with
motion and motion with sound, the motion of atoms in systems cannot but produce an ordered succession of
rhythmic and well-balanced sounds. Perhaps this is what Shakespere means by the ‘music of the spheres’. Yet
this is not the music we are accustomed to hear. The bare succession of sounds pleases only the ear, which is but
one of the senses. Its effects have therefore a beginning and an end. Higher than that lie the fields o mind, of
intellect, of reason and of spirit: and music, rightly understood. must be in touch with all these planes of thought
and activity. Our forefathers indeed claimed for it almost everything-all the aims of lie, the purusarthas. They
claimed also that it was the easiest and the pleasantest path that led souls directly to the feet of the Great Father.
Verily, this result is predicated of only one other means of attainment, namely, Brahma-jnana, the knowledge of
Brahman, with which, therefore music is on the same footing.

fFAfIRIT Tiw & YR W Ui b IR S |

T, ST b o ANl gRT9HS SIdl 5, 966 YHIG Ual B Dl =8 U @l &1 U e vH HIE §
T ORI &1 19 H Ig U &3 & daR gl Bl ¢, did Sl Tid o qrd GHEIS g 3R @i &
1Y 1fdt, yonferal # uRATULR B T1id dds HR o3l dvg § Hdferd @il & U shHdg 3IshH Bl goi
DT El | | 2RIE Ugt AaUIR 1 /i St ThIgd I 1= qU1Y g5 98 difid 181 & 58 G & gH
3Tl & | €l BT I HH Bhad S B 33T Al & oIl bad Udb 31l ol 6. SUITAT 3D UYTEl B Uh
HRH AR TP Hd gIdl & | I Dl i H#1, dfs, DRUN SR 1A D1 [G&IR © IR difid, o9 gel
U T 6, faaR Td nfafafy & 39 92t &Ri & Hud § g1 =91feT | §HR Yduil - arkdd H, 38 fog
AT QI DI ardl [har o - Sita- & g Ie=a a1+ geud, 31 gg i aral a1 § & a8 &y SrEH
Ud Ee AR ¢ S SHTereil 1 i AgH U1 o =Rull & 9l ¢ | 9Rdd H, Ig URUIH WIftd & THHHA Th
3 HIYH 37T SR, I BT IH &1 HUR® § 5 914, 3qierg, Siiid H1 9 goll ¢ |

What did the ancient practitioners of music consider the ultimate goal of practicing this art ?

1. to earn fame in society
2. to earn wealth
3. to attain the supreme knowledge
4. to win competition in royal courts
1
(2 2
(3) 3
(4) 4

YT WY 39 Bl & g ol 3HfdH ded .1 HFd § 2

1. A Ui urd &1
2. 49 HHMT

3. gdi=d M WIS Bl
4. Ao1-SaRT H e SitdHr
(1) 1
) 2
(3) 3
4) 4

1[Option ID=5793]
2[Option ID=5794]
3[Option ID=5795]
4[Option ID=5796]

Sl. No.100
QBID:1103100




Answer the following questions based on the passage below

Music, as understood by some, is but the ordered succession of sounds with a view to producing a pleasing
effect. But this does not, in the opinion of others, cover the whole field. For as manifestation is synchronous with
motion and motion with sound, the motion of atoms in systems cannot but produce an ordered succession of
rhythmic and well-balanced sounds. Perhaps this is what Shakespere means by the ‘music of the spheres’. Yet
this is not the music we are accustomed to hear. The bare succession of sounds pleases only the ear, which is but
one of the senses. Its effects have therefore a beginning and an end. Higher than that lie the fields o mind, of
intellect, of reason and of spirit: and music, rightly understood. must be in touch with all these planes of thought
and activity. Our forefathers indeed claimed for it almost everything-all the aims of lie, the purusarthas. They
claimed also that it was the easiest and the pleasantest path that led souls directly to the feet of the Great Father.
Verily, this result is predicated of only one other means of attainment, namely, Brahma-jnana, the knowledge of
Brahman, with which, therefore music is on the same footing.

fFAfIRIT Tiw & YR W Ui b IR S |

T, ST b o ANl gRT9HS SIdl 5, 966 YHIG Ual B Dl =8 U @l &1 U e vH HIE §
T ORI &1 19 H Ig U &3 & daR gl Bl ¢, did Sl Tid o qrd GHEIS g 3R @i &
1Y 1fdt, yonferal # uRATULR B T1id dds HR o3l dvg § Hdferd @il & U shHdg 3IshH Bl goi
DT El | | 2RIE Ugt AaUIR 1 /i St ThIgd I 1= qU1Y g5 98 difid 181 & 58 G & gH
3Tl & | €l BT I HH Bhad S B 33T Al & oIl bad Udb 31l ol 6. SUITAT 3D UYTEl B Uh
HRH AR TP Hd gIdl & | I Dl i H#1, dfs, DRUN SR 1A D1 [G&IR © IR difid, o9 gel
U T 6, faaR Td nfafafy & 39 92t &Ri & Hud § g1 =91feT | §HR Yduil - arkdd H, 38 fog
AT QI DI ardl [har o - Sita- & g Ie=a a1+ geud, 31 gg i aral a1 § & a8 &y SrEH
Ud Ee AR ¢ S SHTereil 1 i AgH U1 o =Rull & 9l ¢ | 9Rdd H, Ig URUIH WIftd & THHHA Th
3 HIYH 37T SR, I BT IH &1 HUR® § 5 914, 3qierg, Siiid H1 9 goll ¢ |

How is music placed on the same footing on Brahmagnana ?

1. because music has a beginning and an end
2. because music has neither beginning nor end
3. because music is pleasing to ears
4. because music is revealed by the god

1

(2 2

(3) 3

(4) 4

I Bl SR & JHME goll by ST T g 2

1. Fifch Aid H URY Ud 3fd gidl &

>, Fhifs G AT e g 2R A 3fdglaT e
3. i T B Bl =BT T &

4. 1 Tifid oI SR gR1 IeHfed fear mn g

1)1
(2) 2
(3) 3
4) 4

1[Option ID=5797]
2[Option ID=5798]
3[Option ID=5799]
4[Option ID=5800]

Sl. No.101
QBID:3201001




The table below shows the number of males (M) and Females (F) working in six Nationalized Banks in India,
namely SBI, PNB, UCO, BOB, IOB and UBI located across six cities A-F. Based on the data in the table, answer
the question :

City-wise Distribution of Employees in Banks

Bank SBI PNB UCo BOB 10B UBI

&

=
s

=4

FIM|F|IM|F | M|F|M]|]F|M E

2241673]1116]443 | 500 | 534 | 454 | 256 | 235] 356 | 357
456|346 | 256|366 | 345 | 478 | 285|256 | 166 | 346 | 287
388]346)456] 124 1456|235 |235| 574 | 599] 5380 [ 190
378]1241235] 235|388 |255]175[324 | 198] 189 | 256
120|241|156] 350 | 234 | 124 | 165] 124 [ 334 | 155 | 181
353 |325| 348|174 399 [430 | 358 |234] 125|235 278 | 192

19 &) 718 cfereh1 8 MR & B¢ Wekl A-F A R4 S5 TSiachd 31, Tasion, fied), gel, dond,
TS 3ATel AR Fetafrs | SRR YN (M) 3R Afgasil (Fyd U UeiRid @1 715 ¢ | difcs] & 3fibal &
JTYR R YUY DI IR ST -

P e 1 0
e Bl B B

ol ezl fw] F o=l =2
[S] Y [N o] QW

>
["S]

SP| H HHATRG] BT YI-IR (Gl
¥F Taatens | doaet Ecal ot | omgeidt | getemd

RlES l M F M F M F M F M F M F

A 353 224 673 (116 [443 (500 534 (434 [|256 235 556|357
B 254 456 346 256 366 (345 478 285 |256 166 346 287
C 457 388 346 (456 124 (456 235 235 574 599 589 190
D 114 378 124 235 235 (388 |[255 (175 |[324 198 189 |[256
E 234 120 241 1536 |[330 (234 |124 165 |124 334 135 |[181
F 333 325 348 174 399 (439 358 (234 |125 235 278 192

The ratio of the number of females to the number of males in City-E working in SBI, UCO and IOB together is :

1173 2175
2173 177
% 3 [l i
4.172: 175

1) 1

) 2

(3) 3

(4) 4

QIER E H 1SS, Il AR g afidl # GHY BRI Afgasf &l S 3R Joui 1 W] 1 3Urd |18 2

1..173 2175
217305 T
3. 1725 197
41725175

(1) 1

(2) 2

3) 3

4) 4

1[Option ID=8601]
2[Option ID=8602]
3[Option ID=8603]
4[Option ID=8604]

Sl. No.102
QBID:3201002




The table below shows the number of males (M) and Females (F) working in six Nationalized Banks in India,
namely SBI, PNB, UCO, BOB, IOB and UBI located across six cities A-F. Based on the data in the table, answer
the question :

City-wise Distribution of Employees in Banks

Bank SBI PNB UCo BOB 10B UBI

Cit}'l M|FIM|FIM|F| M|FIM|F|M F

53 12241 673|116] 443 [ 500 | 534 | 454 ] 256 | 235 | 556 | 357
54 1456 (346|256 366 | 345 | 478 [285] 256 | 166 | 346 | 287
1

7 |388)346|456] 124 | 456|235 ]|235[ 574 | 599] 580 | 190
4 [378]124]1235]235|388|255]|175(324|198] 189 | 256
234 [120 ”41 156( 350|234 124 ]165| 124|334 ] 155 | 181
353 |325 174{399 14391358 ]234|125]235] 278 | 192

:ﬁ%la‘?ﬂ%mﬁ‘rlaﬂﬁ YR & B8 e A-F H [d 3¢ APIIEHd db!, Tueiafs, Yu-e!, g, dlsfie,
TS 3ATel AR Fetafrs | SRR YN (M) 3R Afgasil (Fyd U UeiRid @1 715 ¢ | difcs] & 3fibal &
SMYR TR YUY DT IR < IfoTT -

Sl H HHANGT BT Ie-aR faavu

95 | uedlons | diewdt | ger | Aol | omeidt | geflems

qul M F M |F M |F M |F M F M |F

3 224 673 Juse [443 [500 534 454 [256 235 [536 [357
4 456 [346 [256 [366 345 [478 [285 J256 [166 [346 |87
388 [346 [456 [124 [use [235 o35 [s74 [s99 [s89 [iso
114 [378 124 235 [235 [388 255 175 [324 [Jios 18 [2s6
234 [120 241 [156 [350 [234 [124 Jies 124 334 155 [is1
353 325 [348 [174 [399 [3o [358 [o34 125 o3 78 |is2
The approximate percentage of the number of females with respect to the number of males across all the banks
together in City-B is:

Sl =1
=
Ln
1

1. 88%
2.98%
3.78%
4. 86%

1

2 2

(3) 3

4 4

Qe B H Yl dbi 1 e driRd Afgdisii &1 S goui &l &A1 Bl i+ fabd=1 Wia=id ¢ 2

1. 88%
2. 98%
3.78%
4. 86%
(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=8605]
2[Option ID=8606]

3[Option ID=8607]
4[Option ID=8608]

Sl. No.103
QBID:3201003




The table below shows the number of males (M) and Females (F) working in six Nationalized Banks in India,
namely SBI, PNB, UCO, BOB, IOB and UBI located across six cities A-F. Based on the data in the table, answer
the question :

City-wise Distribution of Employees in Banks

Bank SBI PNB UCo BOB 10B UBI

Cit}'l M|FIM|FIM|F| M|FIM|F|M F

53 12241 673|116] 443 [ 500 | 534 | 454 ] 256 | 235 | 556 | 357
54 1456 (346|256 366 | 345 | 478 [285] 256 | 166 | 346 | 287
1

7 |388)346|456] 124 | 456|235 ]|235[ 574 | 599] 580 | 190
4 [378]124]1235]235|388|255]|175(324|198] 189 | 256
234 [120 ”41 156( 350|234 124 ]165| 124|334 ] 155 | 181
353 |325 174{399 14391358 ]234|125]235] 278 | 192

:ﬁ%la‘?ﬂ%mﬁ‘rlaﬂﬁ YR & B8 e A-F H [d 3¢ APIIEHd db!, Tueiafs, Yu-e!, g, dlsfie,
TS 3ATel AR Fetafrs | SRR YN (M) 3R Afgasil (Fyd U UeiRid @1 715 ¢ | difcs] & 3fibal &
SMYR TR YUY DT IR < IfoTT -

Sl H HHANGT BT Ie-aR faavu

95 | uedlons | diewdt | ger | Aol | omeidt | geflems

qul M F M |F M |F M |F M F M |F

3 224 673 (116 |443 (500 |534 |454 256 235 556 (357
4 456 346 [256 |366 |345 (478 [285 |256 166 346 |287
457 388 (346 436 124 (456 |235 |235 574 599 |5389 (190
114 378 124 235 235 |388 [255 |175 |324 [198 189 |256
234 120 241 156 |350 |234 |124 |165 |124 (334 |155 |181
353 325 348 |174 399 (439 |358 234 125 235 278 (192

The number of females working in UCO from City-A is approximately % more than the number of
females working in PNB from the same city.

Sl =1
=
Ln

1.278%
2.132%
3. 180%
4.331%

1

2 2

(3) 3

4 4

QR A H gDl db T B Afgarraf o Tear 341 WeR H Uig=«! § BriRd Afgdrsi o1 S 9 a i
farct gfcr=re Sifde ¢ 2

1[Option ID=8609]
2[Option ID=8610]
3[Option ID=8611]
4[Option ID=8612]

Sl. No.104
QBID:3201004




The table below shows the number of males (M) and Females (F) working in six Nationalized Banks in India,
namely SBI, PNB, UCO, BOB, IOB and UBI located across six cities A-F. Based on the data in the table, answer
the question :

City-wise Distribution of Employees in Banks

Bank SBI PNB UCo BOB 10B UBI

Cit}'l M|FIM|FIM|F| M|FIM|F|M F

53 12241 673|116] 443 [ 500 | 534 | 454 ] 256 | 235 | 556 | 357
54 1456 (346|256 366 | 345 | 478 [285] 256 | 166 | 346 | 287
1

7 |388)346|456] 124 | 456|235 ]|235[ 574 | 599] 580 | 190
4 [378]124]1235]235|388|255]|175(324|198] 189 | 256
234 [120 ”41 156( 350|234 124 ]165| 124|334 ] 155 | 181
353 |325 174{399 14391358 ]234|125]235] 278 | 192

:ﬁ%la‘?ﬂ%mﬁ‘rlaﬂﬁ YR & B8 Ue¥ A-F H [d 3¢ APIIdHd db!, THdlafrs, Y-l g, dlsie,
TS 3ATel AR Fetafrs | SRR YN (M) 3R Afgasil (Fyd U UeiRid @1 715 ¢ | difcs] & 3fibal &
SMYR TR YUY DT IR < IfoTT -

sl H HHANGT HT Ie-aR fgavu

95 | uedlons | diewdt | ger | Aol | omeidt | geflems

qul M F M |F M |F M |F M F M |F

3 224 673 (116 |443 (500 |534 |454 256 235 556 (357
4 456 346 [256 |366 |345 (478 [285 |256 166 346 |287
457 388 (346 436 124 (456 |235 |235 574 599 |5389 (190
114 378 124 235 235 |388 [255 |175 |324 [198 189 |256
234 120 241 156 |350 |234 |124 |165 |124 (334 |155 |181
353 325 348 |174 399 |439 |358 |234 125 235 278 (192

The total number of females working across all the six cities together is more than 1700 in:

Sl =1
=
Ln

1. all the six banks
2. exactly three banks
3. exactly four banks
4. exactly two banks
1) 1
2) 2
(3) 3
(4) 4

Tt B e}l © Hrikd wfgarel &1 de Fafatad 7 9 feas 1700 T 3fde g 2

. i BgdPi A
2. 31® i sbi A
3. 3l® AR dpi A
4. 31® al dpl |

1) 1

(2) 2

3) 3

4) 4

1[Option ID=8613]

2[Option ID=8614]

3[Option ID=8615]
4[Option ID=8616]

Sl. No.105
QBID:3201005




The table below shows the number of males (M) and Females (F) working in six Nationalized Banks in India,
namely SBI, PNB, UCO, BOB, IOB and UBI located across six cities A-F. Based on the data in the table, answer
the question :

City-wise Distribution of Employees in Banks

Bank SBI PNB UCo BOB 10B UBI

Cit}'l M|FIM|FIM|F| M|FIM|F|M F

53 12241 673|116] 443 [ 500 | 534 | 454 ] 256 | 235 | 556 | 357
54 1456 (346|256 366 | 345 | 478 [285] 256 | 166 | 346 | 287
1

7 |388)346|456] 124 | 456|235 ]|235[ 574 | 599] 580 | 190
4 [378]124]1235]235|388|255]|175(324|198] 189 | 256
234 [120]241]156| 350|234 | 124 165|124 |334] 155 | 181
353 |325| 348|174 399 [430 | 358 |234] 125|235 278 | 192

19 &) 118 cferep1 8 MIRd & B8 Wekl A-F A [ Sg S 1, qusien, fied), ga, dond,
TS 3ATel AR Fetafrs | SRR YN (M) 3R Afgasil (Fyd U UeiRid @1 715 ¢ | difcs] & 3fibal &
JTYR R YUY DI IR ST -

Sl H HHANGT BT Ie-aR faavu
& | cwdod | doadt | et | dterdt | omdedt | geftemd

qul M F M |F M |F M |F M F M |F

3 224 673 (116 |443 (500 |534 |454 256 235 556 (357
4 456 346 [256 |366 |345 (478 [285 |256 166 346 |287
388 (346 436 124 (456 |235 |235 574 599 |5389 (190
114 378 124 235 235 |388 [255 |175 |324 [198 189 |256
234 120 241 156 [350 |234 |124 |165 |124 (3

353 325 348 |174 399 (439 |358 234 125 235 278 (192

The difference between the number of males working across all the six banks together in City-C and the number
of males working across all the six banks together in City-D is:

g oW e
LA
1

1. 1022
2.1214
3.1198
4. 1084

1

2 2

(3) 3

4 4

QER C D GHI B¢ dbi H BRI Joui Bl TAT 3R Y D D FH! B¢ dbi H HRIRG Jou i WAl & I
BT HR B 2

1.1022
2.1214
3.1198
4. 1084

11

(2) 2

(3) 3

(4) 4

1[Option ID=8617]
2[Option ID=8618]
3[Option ID=8619]
4[Option ID=8620]

Sl. No.106
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Both students and teachers work harder and persist longer when they have a high sense efficacy. Which of the
following does not enhance self-efficacy in both students and teachers?

1. Day to day success in achieving tasks

2. Formal school relationships that focus solely on skills
3. Assistance from more knowledgeable partners

4. High expectations from those in the environment

1) 1

() 2

3) 3

(4) 4

faemdf 3R e/ a9 31f9® FoR IRYH Hd ¢ 3R dd THY 6 3¢ ¥6d 6 99 36 UHEIdIGdHdl &l 3=
e giar g | FafeiRad # 9 o faeniar ok farep] Sl # W-gHEidesd J gia 981 H3d1g 2

1. BRYHR QR B H gl guhed]
2. A PINA R Hisd R fGemag day
3. A AT eIl § ggrdr
4. GRa H ¢ERI U A 3U&y
o 2
3) 3
4) 4

1[Option ID=8621]
2[Option ID=8622]
3[Option ID=8623]
4[Option ID=8624]

Sl. No.107
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Direct instruction is most suited when teachers:

1. teach basic skills
2. have their students explore pathways to solve a mathematics problems
3. encourage their students to refine their creativity in art
4. assign critical thinking exercises
)1
(2 2
(3) 3
(4) 4

Y&l SR qaiideh Iugad gidl o oid R1&1 -

1. gt I=re i a1
2. 30 gl ¥ v THart 84 34 & IRl & AN PRI & |
3. 3G+ faeniifl &1 Sl & ITb! HofTdehdl & URSHR & [t Micdligd PR & |
4. HGTHS [GaROT 30 90 § |
> 2
3) 3
) 4

1[Option ID=8625]
2[Option ID=8626]
3[Option ID=8627]
4[Option ID=8628]

Sl. No.108
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Match List I with List IT

LIST I (learning style) LIST II (Learning characteristics)
& Wsiverser 1 Concre!g experience and reflective
= observation

& B m Ccncr_ele experience and active
expenimentation

C. |Assimilator e Abs‘frgcr con;eptualizatioﬂ and Active
experimentation

o, |scessinasm: v |Abstract conceptualization and reflectivel

observation

Choose the correct answer from the options given below:

1. A-III, B-1IV, C-1I, D-1
2. AL B-I, C-1IV, D-II
3. A-IV, B-1, C-1I, D-III
4. A-1V, B-1, C-1I1, D-II

1) 1
(2) 2
(3) 3
(4) 4

Gl 1T el 1 e Bifee

T 1 3rferm e T 11 (AT SHHaa)
. % ?;;Taﬁuaaﬁ?ﬁﬂ%
TGRS 1 [319 34T AR Fievd Jan
3P SRR 3R
C  [wmRm e
L | TR SR
D. [GHENES IV, |orates Qe

fgfatad fdeeal 7 O a8 I &1 99 Hifoe -

A-TI, B-1IV, C-1I, D-1

L.

2. AL, B-1, C-1V, D-II
3. A-IV, B-1, C-1I, D-III
4. A-IV. B-1. C-1II. D-IIT

(1) 1
) 2
(3) 3
(4) 4
1[Option ID=8629]
2[Option ID=8630]

3[Option ID=8631]
4[Option ID=8632]

Sl. No.109
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Match List I with List IT

LIST I (Tvpe of memory) LIST II (Meaning)
: Memory of remembering the route to
A |Semantic L St =
drive home
Memory that contributes to vour
B. [Episodic II. |sense of self, vour own history or
identity
C. JAutobiographical III. [Memory of General knowledge
Spatial v Meinor}-' of life e\'_ents that happened
to vou or around vou

Choose the correct answer from the options given below:

1. A-III, B-1V, C-11, D-1
2. A-I1, B-1V, C-1I1, D-1
3. A-IIL, B-1I, C-1V, D-1
4. A-IIT, B-I. C-I1, D-IV

1) 1

(2) 2

3) 3

@) a

Gl 1T el 1 e Bifee

T 1 (T T FTR) Tl 11 (31

A Fepi " ‘aﬁfgcqaﬁﬁqnﬂfwaﬂﬁaﬁ
g Wi =1 AT HTd W, HTd

B. RUEHES I |30H Sfae yaTveaH oy |
ANTEH @3l &

C. |HTHPYHD Il [ 31 ¥

. [T Iy ST HOE
D. e . oiTaA- g &1 Wi

frgfafad faseal 3 9 98! I & 994 Hifoe

1. A-IIT. B-IV. C-II. D-1
2. A-II, B-IV, C-1I1, D-I
3. A-III, B-II, C-IV. D-1
4. A-IIT, B-1. C-II, D-IV

1) 1

) 2

(3) 3

4) 4

1[Option ID=8633]

2[Option ID=8634]

3[Option ID=8635]
4[Option ID=8636]

Sl. No.110
QBID:3201010

If you want to assess the students performance and want to give them immediate feedback, which software will
you select?

1. Kahoot
2. Animaker
3. Plotagon
4. Powtoon

11

) 2

(3) 3

4) 4




i 3y fqentlal & wrl weRiq &1 it B dlgd § IR 3¢ debld Udd® &1 dlgd g, dl 3mg 4 &
Y fHd Qe daR &l ATl 2

(1) 1
) 2
(3) 3
4) 4
1[Option ID=8637]
2[Option ID=8638]

3[Option ID=8639]
4[Option ID=8640]

Sl. No.111
QBID:3201011

Arrange the following research components in correct sequence;

A. Preparing a research plan

B. Collecting Data

C. Drawing conclusion

D. Formulating a research question/objectives
E. Analyzing data

Choose the correct answer from the options given below:

4) 4

FafcRad Ay Yo B Ggl 3 H HafRud Sifoe:
A. Y ASHT IR HRAT

B. g Th Bl

C. Ty [HaTa

D. XY UY/3e 24l BT =00y

E. DS DI [GLUl

= fau ¢ fabedl # 9 Ty S0 IR DT 98 BT

LLAD B.E,.C
2.D.AB.E. €
3.B,D,A,C.E
4 A,B,D,C.E

(1) 1

(2) 2

3) 3

(4) 4

1[Option ID=8641]
2[Option ID=8642]
3[Option ID=8643]
4[Option ID=8644]

Sl. No.112
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In a data set any extreme value, either very large or very small, compared to the rest of the data, is said to be:

1. Exceedance
2. Qutlier
3. Extreme
4. Qutsider
1) 1
(2) 2
(3) 3
4) 4

Uh Aol & Gz H [l e AF DI S AN SHidbs| S a1 H U1 dl 9gd So/ dgd B1el ¢, Hedrdl o
|

(1) 1
() 2
3) 3
(4) 4
1[Option ID=8645]
2[Option ID=8646]

3[Option ID=8647]
4[Option ID=8648]

Sl. No.113
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In online surveys, which of the following are sampling issues ?

A. People in a household may use the same computer, as they have access to only one.
B. Many respondents may have multiple email IDS.

C. Internet users constitute a biased sample of the population

D. Sampling frames for online surveys are cheap.

E. The governments restrict online surveys.

Choose the most appropriate answer from the options given below :

1. A, B and C only
2. B, Cand D only
3.C,DandE only
4. A, Cand D only

1) 1

2 2

3 3

@) 4




S e H Fafafad # 8§ SH-5H 9 gid=agT qe 8 2

A. [ Th TR & TN U gl LR DI YN Hd gl Fiifcb 3T Ur HHA U gl LR 3 |
B. 3 ITR&IdI31 @1 dgferd 3Hd YgdH (ID) 8l Habdil o |

C. T YAl ST Bl U Ydidie! UldeRigid § |

D. A Hd&ul & o8 Ufa=a- e I ¢ |

E. RBR g A&l &l Yiaaierd Hdl g |

i fau Y [aspedl 7 9 9ad Iuged IR &1 98 DIfoiT:

1[Option ID=8649]
2[Option ID=8650]
3[Option ID=8651]
4[Option ID=8652]

Sl. No.114
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Mean of a data set is equivalent to:

1. First quartile of that data
2. Second quartile of that data
3. Third quartile of that data
4. Interquartile range of that data
1) 1
() 2
(3) 3
(4) 4

fofl U sfib ST GH=1a B A g H 9 fbgs A ¢ 2

1. 3 Aibsl BT YuH IqUdP

2. 3 s @l (gt Il
3. I SHibsl DI Jdlg Tgdd

4. 3K 3idbs| Pl id: Jadd WY
1) 1

2) 2

(3) 3

(4) 4

1[Option ID=8653]
2[Option ID=8654]
3[Option ID=8655]
4[Option ID=8656]

Sl. No.115
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Given below are two statements:

Statement I: Like correlation, statistical regression examines the association or relationship between variables.

Statement IT: The primary purpose of regression is prediction.

In the light of the above statements, choose the most appropriate answer from the options given below:

1. Both Statement I and Statement II are correct.

Both Statement I and Statement II are incorrect.

Statement I is correct but Statement II is incorrect.
4. Statement I is incorrect but Statement II is correct.

11

(2 2

(3) 3

4) 4

R sy E:

DY : Teua ol Hild, TiRSTD I FHIYH0 =R & g fUal 39 dld & Ja¢i ol Sfid HIdl g |
DY 11 : GHIYYU DT YYD 352 TRl ¢ |

SWRIF] HYF & TP 1, A 6T U f[dheul § g1 IR B 999 DI

L. USRI CH T8l § |
2. FUYH IR SHI TTAd § |
3. FFITel g, AP YT N TAd 6 |
4. HYTITAd 6, AT FUT N T8I © |

1) 1
(2) 2
3) 3
4) 4

2.
3

1[Option ID=8657]
2[Option ID=8658]
3[Option ID=8659]
4[Option ID=8660]

Sl. No.116
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In governance, communication is normally used as a means of:

1. Gender division
2. Preserving power
3. Encouraging illegal actions
4. Alienating the masses
1) 1
(2 2
(3) 3
(4) 4

QT A, SUN0T T TR IHRT 9 A 9 0 & gred & 9 | [ o g 2

1. fefaT fayTsH

2. Tl i &

3. 3{dY B B UdIigd HRAl
4. SFIdT DI f9HE B

1) 1
(2) 2
(3) 3
4) 4

1[Option ID=8661]
2[Option ID=8662]
3[Option ID=8663]
4[Option ID=8664]




Sl. No.117
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A good part of communication in human society is through:

. Para language
. Infographics
. Formal language

4. Hidden emotions
1) 1
(2 2
(3) 3
4) 4

A YA & YUY 61 UH ol g Mg H Y feg S Arem Y giare 2

1. TRTHTST
2. G - S (3BTt a)
3. AR HIST
4. =5 HIg
1) 1
() 2
3) 3
(4) 4

l
2
3

1[Option ID=8665]
2[Option ID=8666]
3[Option ID=8667]
4[Option ID=8668]

Sl. No.118
QBID:3201018

Which of the following elements involving social positions are determinants of communication from the eastern
perspectives?

A. Absence of leadership

B. Ego-centric individualism
C.Role

D. Status

E. Power

Choose the correct answer from the options given below:

1. A, Band Conly
2.B,Cand D only
3. A, CandE only
4.C,Dand E only

1) 1

(2) 2

3) 3

(4) 4




gdl Uy U HHISE Ual &1 Sl ardl dI 9 [FHifdd dad GUyur & [HuRe g 2

A. FIJcd BT 3(HIT

B. 31gH Bi-sd cafaarg

C. YA

D. gREd

E. i

i feu e fab el § 9 gl 3R &1 99 B :

1. $hdd A, B, C
2. ®dd B, C.D
3.%hdd A, C.E
4.%dd C,D.E

1) 1
(2) 2
3) 3
(4) 4
1[Option ID=8669]
2[Option ID=8670]

3[Option ID=8671]
4[Option ID=8672]

Sl. No.119
QBID:3201019

Given below are two statements:

Statement I : The linear model of communication is used for generating intentional results.

Statement II : The linear model of communication was the basis of propaganda during the World War II.
In the light of the above statements, choose the correct answer from the options given below:

1. Both Statement I and Statement II are true
2. Both Statement I and Statement IT are false
3. Statement I is true but Statement II is false

4. Statement I is false but Statement I is true
1) 1
(2 2
(3) 3
4) 4

A By RT T E:

HYF 1 : YUY b G A g BT UGN HfHd gl Febre & forg fbar srarg |
DY 11 : UV 1 3G Hisd fgcdid % gg b SR 3¢ U=R &1 SM1e/R o7 |
SWIdd HYF & 3clieb H, - fGT 7T fadbedl H Tl I &1 999 DI

L. HYFISRIIGH T § |

2. FUYA IR IISHI 3 EA g |

3. P19 ¢, dihd FUA I 3T © |
4. FUI 3 ¢, A FUA M IA © |

@ 1
) 2
(3) 3




(4) 4

1[Option ID=8673]
2[Option ID=8674]
3[Option ID=8675]
4[Option ID=8676]

Sl. No.120
QBID:3201020

Given below are two statements:
Statement I : Coercive communication is ethical, powerful and result-oriented.

Statement II : In international power politics, unethical propagandist communication promotes national prestige
and security.

In the light of the above statements, choose the correct answer from the options given below:

1. Both Statement I and Statement II are true
2. Both Statement I and Statement II are false
3. Statement I is true but Statement II is false
4. Statement I is false but Statement II is true

11

(2) 2

(3) 3

4) 4

R F e
DY 1 : U GO0 Afd, Ferad 3R URUHIHE SidT ¢ |
DY 11 : SHRIPTY A1 W1 H e SifveRard! Gusor AP gicTsT 3k GRaf &1 §gral adi ¢ |

SR HUA & 3AHTelld H, Hid [T T [ edl T Hgl 3R 1 999 DifoI:

L. Y1 AR I aHI 9 &

2. YA AR I aHI 3 &

3. HYF 19 g, dich- P 11 3T &
4. FYF AL, AP P T TG

(1) 1
) 2
3) 3
(4) 4

1[Option ID=8677]
2[Option ID=8678]
3[Option ID=8679]
4[Option ID=8680]

Sl. No.121
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Find the next term in the series given below:
oo Dy=155, 13,7

1. 18
2.20
3

o
-1

1) 1
(2) 2
(3) 3
4) 4




1 €1 713 @l H ol g A1d DI

T8,~1,5,18,2

1.
pA
3

=
-1

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=8681]
2[Option ID=8682]

3[Option ID=8683]
4[Option ID=8684]

Sl. No.122
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N men can complete a job in 12 days. The same job can be completed by (N+6) men in 8 days. Find the value of

) 4
N i 4l B 1 12 f&1 H g B Gobd g | I BRI Bl (N+6) Afderal gRT 8 el # uxT foban ot Hebdl
€ | N &1 HH J1d B -

1[Option ID=8685]
2[Option ID=8686]
3[Option ID=8687]
4[Option ID=8688]

Sl. No.123
QBID:3201023

A beggar has Rs. 15 comprising of 50 coins of 25 paisa and 50 paisa. How many 25 paisa and 50 paisa coins are
there with the beggar respectively?

1.40, 10
.30.20
. 35,15
.36, 14
11
(2) 2
3) 3
(4) 4

[N ]

=




U [HRaRT & g 25 T 3R 50 U9 & 50 ad! &1 {15 399 8 | 4R & 919 HH: 25 09 3R 50
T & [P s g -

1. 40, 10
2. 30,20
3.35,15
.36, 14
1) 1
() 2
(3) 3
4) 4

d=

1[Option ID=8689]
2[Option ID=8690]
3[Option ID=8691]
4[Option ID=8692]

Sl. No.124
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If the price of sugar increases by 25%, determine the percentage by which its consumption be reduced so as not
to increase the expenditure on it?

1.2
3

S b

=
(9% .
n
=]

=)

1) 1
) 2
(3) 3
(4) 4

gl I &1 el 25% a3 ST 8, dl 39 YT H fda- Uia=id & &l &l 9 oy 39 W o0g H gl =
gl

1.25%
2.30%
3.20?

35%

e

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=8693]
2[Option ID=8694]

3[Option ID=8695]
4[Option ID=8696]

Sl. No.125
QBID:3201025

A lady while going to her college in a car drove 20 kms towards north and then 15 kms towards west. She then
turned to the south and covered 10 kms. Further she turned to the east and moved 12 kms. Finally she turned
right and drove 10 kms. How far and in which direction is the lady from her starting point ?

1. 5 km, South
2. 5 ki West
3. 3 km, West
4. 3 km, North

11

2) 2

(3) 3

4) 4




U Hiedl 30 dlas ofld G99 3R &1 3fR 20 [T 3R R 15 [HHI uley &1 IR HR 9ardl g | 9g [
afarn &t SR gl ¢ SR 10 b B gl T DAl ¢ | 3171 98 Yd &t R gol ¢ 3R 12 fhH Iadi g |
&%ﬁ:ﬂ;ﬂ%ﬁ?@?g@?ﬁ%aﬁ?mﬁﬁwaaﬁﬁ% | Afga eg- 3R fo=g ¥ fbdil g @R fbg
fend g2

.5 fopHt, afémr
.5 fobel, afgy
.3 foet, afem
3 fopdl, IR

b b =

o

(1) 1
(2) 2
(3) 3
4) 4
1[Option ID=8697]
2[Option ID=8698]

3[Option ID=8699]
4[Option ID=8700]

Sl. No.126
QBID:3201026

"Environmentalists are continually harping about the dangers of nuclear power. Unfortunately, electricity is
dangerous no matter where it comes from. Every year hundreds of people are electrocuted by accident. Since
most of these accidents are caused by carelessness they could be avoided if people would just exercise greater
caution.” Which fallacy is committed in the above argument?

. Red Herring

. Slippery Sope

. Strawman

. Hasty Generalization
1) 1

2) 2

(3) 3

(4) 4

"R YD Joil & TRl & IR H AR 91d PR e ¢ | gHaw, f[dggd WavAs . dTg ug fabdl
o} I U Bidl 81 | Tl oy Yol a7l [aggd 3e7d &l gaeAl & RIGR B € | 398 I ffUHhiz
gHeHU Sl & HRUI°ICT Bkl § . 371 g1l I AT ol Yobdl ¢ le ART AU Gy Sa- ol
SRIFI FUFH DI - T ddh g g 2

1. 38 B _
2. e ea (ReTor i)
3. URY-YaT () b aly
4. 3ifa=Rd TSR
1) 1
) 2
3) 3
(4) 4

B R O R

1[Option ID=8701]
2[Option ID=8702]
3[Option ID=8703]
4[Option ID=8704]

Sl. No.127
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Which of the following statement is logically equivalent to "No birds are mammals"?

1. Some birds are not mammals.
2. Some non-birds are mammals.
3. No mammals are birds.
4. All non-birds are mammals.
11
(2 2




3) 3
4) 4

frafefad & 9 S1-91 o "I vall Tyl gl " 9 difdbs T A IAq B 2

1. $% Tl TR TRl E |
2. 59 TR-UE TR ¢ |
3. Plg WHYNI Uall T8l § |
4. 9 TR-U&H TURI G |
o 2
3) 3
(4) 4

1[Option ID=8705]
2[Option ID=8706]
3[Option ID=8707]
4[Option ID=8708]

Sl. No.128
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Which of the following is contrary to the statement "No mammals are birds"?

1. No birds are mammals.
2. Some mammals are birds.
3. All mammals are birds.
4. Some birds are mammals.
1) 1
(2 2
(3) 3
4) 4

"B1S TR velt e B e @ Fafafea 8 9 & faudia &

1. B3 g&fl THYRI el g |
2. TS WAYRI Uefi § |
3. gt e gl € |
4. D &I WY G |
1) 1
(2) 2
3) 3
(4) 4
1[Option ID=8709]
2[Option ID=8710]

3[Option ID=8711]
4[Option ID=8712]

Sl. No.129
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If the statement "Some animals are birds" is given as false then which of the following statements can be
immediately inferred to be false?

1. Some birds fly.
2. Some animals are not birds.
3. No animals are birds.
4. All animals are birds.
1) 1
(2) 2
(3) 3
4) 4




e HUH "He SIFa Uall 3" o & & H fear 71 g | dd FMafaRdd SH-91 $U- dicbiide 0 9 3y
& 0 H ST 631 S Gl 3§ 2

1. PO Uel 3sd ¢ |
2. g of-1aR Yajl -Tgi g |
3. Plg AR Y& 181 & |
4. 9t TR UER € |

> »

3) 3

4) 4

1[Option ID=8713]
2[Option ID=8714]
3[Option ID=8715]
4[Option ID=8716]

Sl. No.130
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Given below are two statements:
Statement I: According to Classical Indian School of logic (Nyaya) one can infer for oneself.

Statement II: According to Nyaya school inferring for oneself is a psychological process and does not require the
formal statement of the different members of a syllogism.

In the light of the above statements, choose the most appropriate answer from the options given below:

1. Both Statement I and Statement II are correct
2. Both Statement I and Statement II are incorrect
3. Statement I is correct but Statement II is incorrect
4. Statement I is incorrect but Statement II is correct
11
(2) 2
3) 3
4) 4

A el dy feu e g
DY I: db (1) B HRAIY ARA A b AR T b AT HY o AT foban ot debell ¢ |

DY 1T : I Hd & IR W & (e18 HF GH1 U BRI Uishal g 3R arad & (3 @Rull &
SHIHIND DY B ATIDdl T51 il g |

SWRId By & 3HTedld H, i< S U f[dw el # 963 Iugdd 3R &1 98- DI -

L. FUFIR A T8I E |
2 FYFA IR SH TAd § |
3. FY 1Tl g, AP ST N Tad § |
4. FUTITET G, APTHUT I Tl ¢ |

(1) 1
(2) 2
(3) 3
4) 4

1[Option ID=8717]
2[Option ID=8718]
3[Option ID=8719]
4[Option ID=8720]

Sl. No.131
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is a set of rules that must be obeyed when transferring files across the Internet.

Il T U GH= g [SPT 3e3-1¢ IR BIgd! & RIFRUN H HHardd: re fdar S =gy |

1. @A TAT
2. g 3R A
3. ug ¢l i
4. 35 Tg i

(1) 1
2) 2
(3) 3
(4) 4
1[Option ID=8721]
2[Option ID=8722]

3[Option ID=8723]
4[Option ID=8724]

Sl. No.132
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The action of sending emails to fraudulently obtain another person's bank details is called:

1. Phishing
2. Pharming
3. Spamming
4. Smishing

@1

2) 2

(3) 3

@) 4

fordl 3 i & db-Yafad fqarull & Hucyded Wt B g sHd Hol- B 1 1 Hgdldl ¢ ?

1. fopfRiT
 IHT
. ff
fefaim

b b2

=

1)1
(2) 2
(3) 3
(4) 4
1[Option ID=8725]
2[Option ID=8726]

3[Option ID=8727]
4[Option ID=8728]

Sl. No.133
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Which of the following are the advantages in using Solid State Drives (SSDs) rather than Hard Disk Drives
(HDDs) in Laptop computers?

A. SSD is much lighter than HDD.
B. SSD has a lower power consumption than HDD.
C. SSDs are thick compared to HDDs due to no moving parts.

Choose the correct answer from the options given below:

A and B only
. A and C only
B and C only
.A,Band C
1

) 2

(3) 3

(4) 4

dUeiy HreR H gIS (S SI5d (HDDs) B {UE HIleTs [T S13d (SSDs) & WIRT o (HfciRad &1 -4
AHE 2

A. HDD®! 3{U&T SSD (¥ geohl glcll o |
B. HDD®! 3{U&fl SSD H &H fdggd @Ud gidi ¢ |
C. HDDs &1 da-H $SDs HIct gldl & dilfdy 318 g TaHA HITT 8] I Sl g |

[

i f3U 1T fasb oal H 9 9a8 Iugad IR &1 99 Bifoly -

1.%dd A 3R B
2. Had AR C
3. Hdd B 3R C
4.A.B3IRC

) 1

) 2

(3) 3

4) 4

B S B O

1[Option ID=8729]
2[Option ID=8730]
3[Option ID=8731]
4[Option ID=8732]
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Match List I with List IT

LIST I (Statement) LISTII

(Value)
A [Base-10 (denarv) value of the binarv number: 100000 I 100
[nternet service provider advertises a download speed of
B. |80 megabits per second. What 1s the time taken in I |14

seconds to download an 80 megabyte file ?

1A music file 1s 80 megabytes in size and MP3 file
compression reduces the size of a music file by 90%. m B2
" [The number of MP3 files of the size after compression ¢
that can be stored on an 800 MB CD

[What 1s the denary (base-10) equivalent to the v s
hexadecimal digit E? g

D.

Choose the correct answer from the options given below:

1. A-II, B-1V, C-I, D-III

2. A-IIL B-1V. C-1, D-II

3. A-1, B-II. C-IV, D-III

4. A-III, B-1, C-IV, D-II
(1) 1




) 2
3) 3
(4) 4

YT 1T el I 8 A Bifoe

=1 @FeE) eIl 1 (AT
A [fg3Te_l T8 - 100000 BT ST - 10 GRIERHAE | L {100
Sed-ie a1 UGl 80 5 92y 2 Ufd Udbs ol
B. B3-S fd HaIRd dXdl 6 | U 80 HTERe & | I |14
BISd @I SI3dals - Of da-l ¥Hg i |
T Hilid BIge SR | 80 TETEE @i & 3R
MP3 HIgd Upd Wid BI3d ®I 90% i BH &
C. &1 81 39 MR @1 fave) Ta f 3 rgell & m 52
P U s00 TH &1 @i Tig! & wofgd foar = gasa

[
% xgﬁ%Eﬁwmm@Rmm@l i
il faU ¢ fdspedl A 9 951 SR b1 99 Hifof :

1. A-II, B-IV, C-1, D-1II
2. A-IIL, B-1V, C-I, D-1I
3. A-1. B-II, C-IV, D-1II
4. A-1I1, B-1. C-IV, D-1I

11

(2) 2

(3) 3

(4) 4

1[Option ID=8733]

2[Option ID=8734]

3[Option ID=8735]
4[Option ID=8736]

Sl. No.135
QBID:3201035

Give below are two statements:
Statement I : CDs and DVDs are described as magnetic storage devices.

Statement II : Laser printers are made up of a print head consisting of nozzles that sprays droplets of ink onto the
paper to form characters.

In the light of the above statements, choose the correct answer from the options given below:

1. Both Statement I and Statement II are true.
2. Both Statement I and Statement II are false.
3. Statement I is true but Statement IT is false.
4. Statement I is false but Statement II is true.

1) 1

(2) 2

(3) 3

4) 4




CIEEACRIC AR
DY 1 : Uil 3R SISt Traab g GYgUT gfkddl (SUDHRUIM) b $U H o[+ SI1d ¢ |

DY 11 : Ao Hex T 319 2 9 & gid € ST 3faRT & i gg 1T )R ®ig! B BT §al o1
fSSdId B dld Aeid gid ¢ |

SR YA & 3Tl H, AId [T T8 f[ddedi § 9 Yol 3R BI 9 DifofT -
1. HYTIMR I Td 3§ |

2. BYF IR I SHI 3¢ |
3. HYTI A ¢, dfhd PUT I 3T ¢ |
4. HYTI I g, AfbI FUT N IIE |
1) 1
(2) 2
3) 3
(4) 4

1[Option ID=8737]
2[Option ID=8738]
3[Option ID=8739]
4[Option ID=8740]
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Give below are two statements:

Statement I : The Montreal Protocol to protect the Earth's ozone layer is to date the only United Nations
environment agreement to be ratified by every country in the world.

Statement IT : Paris agreement establishes voluntary commitments by all parties to prepare, communicate and
maintain a Nationally Determined Contribution (NDC).

In the light of the above statements, choose the correct answer from the options given below:

1. Both Statement I and Statement II are true.
2. Both Statement I and Statement IT are false.
3. Statement I is true but Statement IT is false.

4. Statement I is false but Statement II is true.
1) 1
) 2
(3) 3
4) 4

BIERACAIE AU

DY : Jedl Bl S TR b TREUN D [o7T AfcTd UIcTdTd T DI Faiarvl Heeh Tgerd Y Pl
THHATA TR ¢ forgedl fay & Udd A g @1 g |

DY URE PR AP TR W MR TREH (TSR daR S, WUNT B 3R SREU I 6
it geif gRT WS dadGdIe WIftd dRdl g |

SWRIFd HYH & TP 1, A (3T U [dheul § Ggl 3R Bl 98- ot

L. FEIARIGHI TG |

2. FUFI RO G 3T G |

3. FYT 19 6, AP YT 3T © |
4. FUT1 A S, APA BT T T © |

(1) 1
(2) 2
(3) 3
4) 4




1[Option ID=8741]
2[Option ID=8742]
3[Option ID=8743]
4[Option ID=8744]
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Give below are two statements:

Statement I : Thermal pollution, usually effluent from cooling systems of power plants or other industries, alters
water temperature in a lake or stream.

Statement II : Humans also cause thermal pollution by altering vegetation cover and run-off patterns.
In the light of the above statements, choose the correct answer from the options given below:

1. Both Statement I and Statement II are true.
2. Both Statement I and Statement II are false.
3. Statement I is true but Statement IT is false.
4. Statement I is false but Statement II is true.

11

(2) 2

(3) 3

4) 4

TR T RIS

DU : QAT f[degd G493t ryar =g Il i U=t gonferdl ¥ «fg:@rd, drdig geyor gitd a1 oid
alg H Siel & g H YRadd $R adl g |

DY 1 : {1 Ufd HesTe SR Sd Yalg! Ui ol uRafdd B drdig Uguu di g |

IWRIKI HUT & 3ATelld 4. i [T U fdbedl § gl IR &1 999 Difole:

L. FYFINRIGHI 9 |

2. YT AR M GHI 3 |

3. FUYA 1A g, Al U1 3T & |
4. DU I G, AP FUA T TA © |

1) 1
(2) 2
3) 3
(4) 4

1[Option ID=8745]
2[Option ID=8746]
3[Option ID=8747]
4[Option ID=8748]
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Which of the following substances has the least Ozone Depleting Potential?

1. Chlorofluorocarbons
2. Hydro chlorofluorocarbons
3. Carbon tetrachloride
4. Halons
11
(2) 2
3) 3
4) 4

fFrafaRad 7 9 g gard B siwii /dary GHTed GAda g 2

1. FARIIRIPTE
2. RS IFARITRIebTe
3, BIE CCIHARS S

4. 899




(1) 1
(2) 2
(3) 3
4) 4
1[Option ID=8749]
2[Option ID=8750]

3[Option ID=8751]
4[Option ID=8752]
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Potential regions of geothermal sites are:

A. Circum pacific belt
B. Himalayan Region
C. Delta

D. Subduction zones
E. Rann of Kachchh

Choose the correct answer from the options given below:

1. A, Band C only
2.B, Cand D only
3. A, Band D only
4. A, D and E only

1)1
(2) 2
(3) 3
4) 4

YTdTg Rdl & Yo 8 §

A. GR-URIT &7 (WRPH Ul dec)
B. fedTedl &

C. Sl

D. Fuad (Gas) &7

E. &3 TII0]

i fu T fasm el & 9 get 3R &1 99 Hifou :

1[Option ID=8753]
2[Option ID=8754]
3[Option ID=8755]
4[Option ID=8756]
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International Solar Alliance (ISA) has its head quarter in:

1. United States
2. Switzerland
3. India
4. France

11

(2 2

(3) 3




4) 4

SIRIPT YR WY (MEUH) 1 geay Fafafad 8 3 sl R e -

1. Y I A DI
2. RgesRds
3. HRd
4.1

1) 1

2) 2

(3) 3

(4) 4

1[Option ID=8757]
2[Option ID=8758]
3[Option ID=8759]
4[Option ID=8760]
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National Council for Vocational Education and Training (NCVET), an overarching skills regulator, was notified
in the year:

1.2018
. 2015
. 1956
. 1961
1) 1
(2) 2
3) 3
(4) 4

gaﬂ?{amiq IR [T, AP HrawTiye fRia gd uiiam uRyg (Geidisch) fog ay siergf=a
ot 2

[T ]

d=

1. 2018
2.2015
3. 1956
. 1961
(1) 1
) 2
(3) 3
(4) 4

=

1[Option ID=8761]
2[Option ID=8762]
3[Option ID=8763]
4[Option ID=8764]
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Which of the following are the ancient Indian texts on Astronomy?

A. Sankhyakarika

B. Siddhanta Siromani
C. Surja Siddhanta

D. Grihya Satras

Choose the most appropriate answer from the options given below:

. A, Band C only
B and C only
.A,B,CandD

. A, BandD only
)1

) 2

(3) 3

S B O




4) 4

fFafRad & 9 @ e - 99 R U URAM Y S A E 2

A. IRIHIRE
B. Rigid RREf
C. Yol fgid
DRIEE!

i AU U fdspedl # 9 e Iuged 3R &1 98 Bifoid:

1. $FTAA, B AR C
2. $AdAB 3R C
3.A.B.C3RD
4. Hdd A, B3R D

1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=8765]
2[Option ID=8766]
3[Option ID=8767]
4[Option ID=8768]
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Which of the following are the characteristics of conventional learning?

A. Cost-effective

B. Teacher-centered learning
C. Learner oriented

D. Prescribed curriculum

E. Require regular attendance.

Choose the correct answer from the options given below:

C,D and E only
B. D and E only
.A.Dand E only
4. A, BandD only
1
(2) 2
(3) 3
(4) 4

fFrafeRad # 9 URuR® /e i [a=Ivare 1 9 g 2

A. ART-UHTdL

B. [R1&/@ - Pl affermm
C. MGl - IHE

D. iR gre=af

E. fFrafiya SulRufa srasas

i feu 71t fawedl § 9 el IR &1 99 Hifolu ;

1.%ad C, D 3R E
2. $ddB. D AR E
3. $dd A, D 3RE
4. Hdd A B3R D

11

I:
2.
3




(2) 2
3) 3
(4) 4
1[Option ID=8769]
2[Option ID=8770]

3[Option ID=8771]
4[Option ID=8772]
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Higher order thinking skills can be promoted through:

1. Rote learning
2. Active learning
3. Passive learning

4. Tutorials
1) 1
2) 2
(3) 3
4) 4

3= A fHda o1d @ fAufafad 3 9 fead gr uiafed fhar st gadr g 2

. ihg-3{IeRTH
fAfspa siferm

L S

=

(1) 1
(2) 2
3) 3
4) 4
1[Option ID=8773]
2[Option ID=8774]

3[Option ID=8775]
4[Option ID=8776]
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Who among the following was the Governor-General and the Viceroy who passed the acts of incorporation in
January 1857, which provided for the establishment of universities at Calcutta, Bombay and Madras?

1. Lord Curzon

2. Lord Dalhousie
3. Lord Lansdowne
. Lord Canning
1) 1

) 2

(3) 3

4) 4

FafafRad 7 9 98 TR SR 3R IR S U7 o= SRt 1857 H TH1GYE o ifafaas uid faar,
S8 b, diFl 3R A H [ayfdemeri B QA9 1 AR F2Rd g 2

1. TS PHo
2. dTS Sdgholt
3. @S dusIa
4. 9IS AT

o 2

3) 3

) 4

B

1[Option ID=8777]
2[Option ID=8778]
3[Option ID=8779]
4[Option ID=8780]
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Read the following passage and answer the questions.

The progress of salt march can also be traced from another source: The American news magazine Time. This, to
begin with, wrote with disdain of Gandhi's "Spindly frame" and his "spidery loins". In its first report, Time was
deeply skeptical of the marchers reaching their destination. It claimed that Gandhi "sank to the ground" at the end
of the second day's walking; the magazine did not believe that "the emaciated saint would be physically able to
much further". Within a week, it had changed its mind. The massive popular following that the march had
gathered, wrote Time, had made the British rulers "desperately anxious". Gandhi himself they now saluted as a
"saint" and a "statesman who was using "Christian acts as a weapon against men with Christian beliefs". The salt
march was notable for at least three reasons. First, it brought Gandhi to world attention, with the march being
widely covered by the European and American press. Second, it was the first nationalist activity in which women
participated in large numbers. The socialist Kamaladevi Chattopadhyay had persuaded Gandhi not to restrict the
protests to men alone. Kamaladevi was herself one of numerous women who courted arrest by breaking the salt
or liquor laws. Third, and perhaps. the most significant, if was the salt march that forced upon the British the
realization that their raj may not last for ever and that they would have to devolve some powers to Indians.

fgfarad ey ®1 gfeu 3R U8 $T IR gifoig

TS Sfiala DI WId I Th 30 Fid U 1 GIol 51 96hdl § : AP YHER @ o5 | RY H g
g (R RYd® el & “gad uad e 3R “Hbho! ol HHR" & dR | feradi ¢ | Y- ggal Ruie 7,
CTsH TGSl & U Tided db Ugd U i diebR Sieieh G 41 | 39 a1l fobar fab gaR fa &b
YA FHITG & A TTiel <o OR FR 1, et b1 fayr =18 o1 fob <RI Hd SR 1l der H
YRIRS ¥4 T GH g Uh Itdlg & R g1, 39 39+ Ui gad <l | ersH A foran fab siigia A foraq
&S UHF TR B STHl U fhd 399 fadrt Urs “FRmimse U 9 fHfdd g1 d | sd d il
DI TP U el 3R IS & B H A HR A1 ol <3975 M7 dld ARl & [deg 3975 39| &l Uh
SIUUR & T4 H SIIHIA DI QT UM | THD SHiGId- HH I HH diF BRUN J Jedd-1a AT | YYH g8 g
WR DI M il B AR Wi, GG SR HERIB! GHER HIH A 39 ATd 6] g9 UHH TR Har b |
G, Ig gl Ayardi idfate ot fores Afgema 5 Wkl e | v forr | gHrSardl eHeredl g |
il @l gHgd B o A1 fab 9 {1y &) A goui dob Hifed 139 | dadGd! ¥y 34 34 Afgarsii # d
U i [T 1H TH® a1 B S BT Iea e B TREIRI &l | G 3R 21e gdiieis Agayqul, a8 06
3fieia gl U1 [ Yl B1 U8 UgH &R UR HolaR (bl fds 3TehT ol QARG gHRI A1 ¥g 3R U8 b 3¢
Hidud fekTd] BT HRIE] Bl URTHA HRAT B |

What was the initial response of western press to Ghandhiji's salt march ?

1. Skeptical
2. Appreciative
3. Deceptive
4. Neutral
1
(2 2
3) 3
4) 4

TSl & 9 3figia- & Ulid gl U9 &I 3RS uididsar o of 2

1. e
2. YRl 5D
3. YHD
4. fRge
1) 1
(2) 2
3) 3
4) 4
1[Option ID=8781]
2[Option ID=8782]

3[Option ID=8783]
4[Option ID=8784]
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Read the following passage and answer the questions.

The progress of salt march can also be traced from another source: The American news magazine Time. This, to
begin with, wrote with disdain of Gandhi's "Spindly frame" and his "spidery loins". In its first report, Time was
deeply skeptical of the marchers reaching their destination. It claimed that Gandhi "sank to the ground" at the end
of the second day's walking; the magazine did not believe that "the emaciated saint would be physically able to
much further". Within a week, it had changed its mind. The massive popular following that the march had
gathered, wrote Time, had made the British rulers "desperately anxious". Gandhi himself they now saluted as a
"saint" and a "statesman who was using "Christian acts as a weapon against men with Christian beliefs". The salt
march was notable for at least three reasons. First, it brought Gandhi to world attention, with the march being
widely covered by the European and American press. Second. it was the first nationalist activity in which women
participated in large numbers. The socialist Kamaladevi Chattopadhyay had persuaded Gandhi not to restrict the
protests to men alone. Kamaladevi was herself one of numerous women who courted arrest by breaking the salt
or liquor laws. Third, and perhaps. the most significant, it was the salt march that forced upon the British the
realization that their raj may not last for ever and that they would have to devolve some powers to Indians.

frafafad Teiw &1 ufdu 3R us &1 3w SIS

TS 3HicIa D WIfd I Th 31 Fid J 1 GIol 571 9ahdi ¢ : P! YHER e —osd | 3RY J g
g [(REPRYdD el P “gad Udd ¢ 3R “Hb ol Bidl HAR" & IR | ferddi § | 39-11 ggal Ruid #,
CTsH SHGIThIRAT & 30 Tided deb Ygd UM Dl deb ffeie Jt AT | 39+ ardl b fob g o i
AT GHITGE & A TMielt <o IR FR 1, a1 b1 fayr 18 o1 fob <RI Hd SR S def- J
YRIRS ¥4 T GH gHTT [~ Uh Utlg & R g1, 39 39+ Ui dad 2l | esH A foral fb siigia A foraq
a5 UM R A SFTH! U fhd 399 o s “FRimse w9 9 fHfad g1 g | 81d 4 i
DI UPH U “Hd 3R O & B H A B A1 Sl <5975 AT ald ARl & [deg 3975 39| &l Uh
BIUUR & TU H ZIAHI DR IQT AT | THD SHiGIa- HH I HH diF BRUN T Ieid-1a AT | U4H 38 g
W DI e Tl B AR Wi, GG SR RIS GHER HIH A 39 A" 61 99 UHH IR dar b |
IR, ¥g Ugd! ryardi mfdfafe ot forad Afgemait = 4Rt Twar # i ferar | gATSIaTd! el Tgiaream |
el BT FHgd B foran AT fob d faviy &1 A1 goul do TifAd 1 3E | SHAGA! 3[g 31 31 Afgareii § 4
U i Sl THS S{udl 7 B bl Iewie- B FREIRT 2 | FIRR SR Qe g Agayul, g8 166
Sficie gl U1 forg 3iUoll 1 g8 UgH™ &R+ IR HolaR [l fb 31 IS RIS gHRIN A I3 3R I8 fb I
S QfkTd] BT HRIAT BT URTHA HAT B |

How did Time magazine describe Gandhi's salt march in its first report ?

1. People would reject the march.
2. He would not be able to complete it.
3. The British supported the march.
4. Gandhiji had the physical strength to lead the march.
1) 1
(2 2
3) 3
(4) 4

TT3H Ul A 3O uyH Raid J el & 9606 Hiciad 1 b4 gui fdar 2

1. ST 3fgie i 3RAIHR DR &l |

2.9 39 QX ol X UId] |

3. Ul A 3faia &1 gHH o |

4 TSl H 7 @) 1 Add S B ARG i o |

1) 1
(2) 2
3) 3
4) 4

1[Option ID=8785]
2[Option ID=8786]
3[Option ID=8787]
4[Option ID=8788]
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Read the following passage and answer the questions.

The progress of salt march can also be traced from another source: The American news magazine Time. This, to
begin with, wrote with disdain of Gandhi's "Spindly frame" and his "spidery loins". In its first report, Time was
deeply skeptical of the marchers reaching their destination. It claimed that Gandhi "sank to the ground" at the end
of the second day's walking; the magazine did not believe that "the emaciated saint would be physically able to
much further". Within a week, it had changed its mind. The massive popular following that the march had
gathered, wrote Time, had made the British rulers "desperately anxious". Gandhi himself they now saluted as a
"saint" and a "statesman who was using "Christian acts as a weapon against men with Christian beliefs". The salt
march was notable for at least three reasons. First, it brought Gandhi to world attention, with the march being
widely covered by the European and American press. Second. it was the first nationalist activity in which women
participated in large numbers. The socialist Kamaladevi Chattopadhyay had persuaded Gandhi not to restrict the
protests to men alone. Kamaladevi was herself one of numerous women who courted arrest by breaking the salt
or liquor laws. Third, and perhaps. the most significant, it was the salt march that forced upon the British the
realization that their raj may not last for ever and that they would have to devolve some powers to Indians.

frafafad Teiw &1 ufdu 3R us &1 3w SIS

TS 3HicIa D WIfd I Th 31 Fid J 1 GIol 571 9ahdi ¢ : P! YHER e —osd | 3RY J g
g [(REPRYdD el P “gad Udd ¢ 3R “Hb ol Bidl HAR" & IR | ferddi § | 39-11 ggal Ruid #,
CTsH SHGIThIRAT & 30 Tided deb Ygd UM Dl deb ffeie Jt AT | 39+ ardl b fob g o i
AT GHITGE & A TMielt <o IR FR 1, a1 b1 fayr 18 o1 fob <RI Hd SR S def- J
YRIRS ¥4 T GH gHTT [~ Uh Utlg & R g1, 39 39+ Ui dad 2l | esH A foral fb siigia A foraq
a5 UM R A SFTH! U fhd 399 o s “FRimse w9 9 fHfad g1 g | 81d 4 i
DI UPH U “Hd 3R O & B H A B A1 Sl <5975 AT ald ARl & [deg 3975 39| &l Uh
BIUUR & TU H ZIAHI DR IQT AT | THD SHiGIa- HH I HH diF BRUN T Ieid-1a AT | U4H 38 g
W DI e Tl B AR Wi, GG SR RIS GHER HIH A 39 A" 61 99 UHH IR dar b |
IR, ¥g Ugd! ryardi mfdfafe ot forad Afgemait = 4Rt Twar # i ferar | gATSIaTd! el Tgiaream |
el BT FHgd B foran AT fob d faviy &1 A1 goul do TifAd 1 3E | SHAGA! 3[g 31 31 Afgareii § 4
U i Sl THS S{udl 7 B bl Iewie- B FREIRT 2 | FIRR SR Qe g Agayul, g8 166
Sficie gl U1 forg 3iUoll 1 g8 UgH™ &R+ IR HolaR [l fb 31 IS RIS gHRIN A I3 3R I8 fb I
S QfkTd] BT HRIAT BT URTHA HAT B |

What was the first effect of the salt March ?

1. People were confused.
2. Gandhi's followers were reluctant.
3. Gandhi was able to garner world attention
4. Gandhiji's faith in Christianity got reinforced.
1) 1
(2 2
3) 3
(4) 4

THD 3GIcr DT Ugell UHTT 1 YT 2

ICERIRIERRIN

2. Tl & St SifAg D o |

3. 17efl T T AT S td B Ul o |
4. 5915 o H TS B ST Uad gl Tl |

1) 1
(2) 2
3) 3
4) 4

1[Option ID=8789]
2[Option ID=8790]
3[Option ID=8791]
4[Option ID=8792]
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Read the following passage and answer the questions.

The progress of salt march can also be traced from another source: The American news magazine Time. This, to
begin with, wrote with disdain of Gandhi's "Spindly frame" and his "spidery loins". In its first report, Time was
deeply skeptical of the marchers reaching their destination. It claimed that Gandhi "sank to the ground" at the end
of the second day's walking; the magazine did not believe that "the emaciated saint would be physically able to
much further". Within a week, it had changed its mind. The massive popular following that the march had
gathered, wrote Time, had made the British rulers "desperately anxious". Gandhi himself they now saluted as a
"saint" and a "statesman who was using "Christian acts as a weapon against men with Christian beliefs". The salt
march was notable for at least three reasons. First, it brought Gandhi to world attention, with the march being
widely covered by the European and American press. Second. it was the first nationalist activity in which women
participated in large numbers. The socialist Kamaladevi Chattopadhyay had persuaded Gandhi not to restrict the
protests to men alone. Kamaladevi was herself one of numerous women who courted arrest by breaking the salt
or liquor laws. Third, and perhaps. the most significant, it was the salt march that forced upon the British the
realization that their raj may not last for ever and that they would have to devolve some powers to Indians.
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The salt march was the first nationalist movement to attract/incur

1. The attention of American press
2. comments by the European press
3. The wrath of the British Government
4. A large number of women participants
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3) 3
4) 4
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Read the following passage and answer the questions.

The progress of salt march can also be traced from another source: The American news magazine Time. This, to
begin with, wrote with disdain of Gandhi's "Spindly frame" and his "spidery loins". In its first report, Time was
deeply skeptical of the marchers reaching their destination. It claimed that Gandhi "sank to the ground" at the end
of the second day's walking; the magazine did not believe that "the emaciated saint would be physically able to
much further". Within a week, it had changed its mind. The massive popular following that the march had
gathered, wrote Time, had made the British rulers "desperately anxious". Gandhi himself they now saluted as a
"saint" and a "statesman who was using "Christian acts as a weapon against men with Christian beliefs". The salt
march was notable for at least three reasons. First, it brought Gandhi to world attention, with the march being
widely covered by the European and American press. Second. it was the first nationalist activity in which women
participated in large numbers. The socialist Kamaladevi Chattopadhyay had persuaded Gandhi not to restrict the
protests to men alone. Kamaladevi was herself one of numerous women who courted arrest by breaking the salt
or liquor laws. Third, and perhaps. the most significant, it was the salt march that forced upon the British the
realization that their raj may not last for ever and that they would have to devolve some powers to Indians.
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According to the passage, the most significant outcome of the salt march was that

1. The British were able to nullify the effects of the movement.
2. Gandhiji could not achieve his aim of breaking the salt law.
3. The British realized the need for devolution of power with Indians.

4. The salt march ended as a mere local movement of tokenism.
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